
Active la capacidad de Bluetooth en su dispositivo y hágalo visible, elija el dispositivo 
mostrado "BTMP3" para emparejarlo. Una vez que el dispositivo está emparejado, 
puede comenzar a usar la aplicación en su dispositivo para reproducir, pausar y 
ajustar el volumen, etc.

MUSIC

CINTA DE CORRER      TREADMILL

RUN FIT EVEREST PRO RF300



LISTA DE HERRAMIENTAS Y COMPONENTES DE ENSAMBLAJE

S1 S2 S3

Perno de cabeza 
ovalada y cuello 

hexagonal 
M8x55 X2

Arandela de resorte 
M8 X2

Tornillo Allen M8x16
X 8

S4

Llave de 
seguridad X 1

HERRAMIENTAS

Llave Allen
X 1

Active la capacidad de Bluetooth en su dispositivo y hágalo visible, elija el dispositivo 
mostrado "BTMP3" para emparejarlo. Una vez que el dispositivo está emparejado, 
puede comenzar a usar la aplicación en su dispositivo para reproducir, pausar y 
ajustar el volumen, etc.

MUSIC

ES

2



3



4



PASO1

Se recomienda que una segunda persona ayude en este paso. Alce los bastidores de
soporte del manillar derecho e izquierdo. Una persona debe sostener en su sitio ambos
bastidores mientras que la otra aprieta los pernos.
Sujete los bastidores de soporte del manillar derecho e izquierdo y alinee los agujeros
de los pernos. Use dos pernos de cabeza ovalada y cuello hexagonal M8x55 (S1) y dos
arandelas de resorte M8 (S2) para ajustar los bastidores derecho e izquierdo en la
estructura de la base.

Use dos tornillos Allen M8x16 (S3) para ajustar los bastidores derecho e izquierdo en la
estructura de la base. Apriete parcialmente todos los pernos y tornillos con la llave Allen
proporcionada

NOTA: NO APRIETE LOS PERNOS Y TORNILLOS POR COMPLETO EN EL PASO 1
HASTA QUE NO HAYA COMPLETADO EL PASO 2.

INSTRUCCIONES DE ENSAMBLAJE

S1

S2

S3

5



PASO 2

Se recomienda que una segunda persona ayude en este paso. Una persona debe sujetar
la consola del ordenador en su posición, mientras que la otra conecta los cables.
Conecte el cable de control principal del bastidor de soporte derecho al cable procedente
de la consola del ordenador.

Instale el soporte del manillar en los bastidores de soporte derecho e izquierdo, utilizando
para ello dos tornillos M8x16 (S3).

A

IMPORTANTE: Al deslizar el soporte del manillar sobre los bastidores de soporte derecho e
izquierdo, asegúrese de que los cables estén instalados dentro de los bastidores y preste
atenciónparanoaplastarlos.

HORA PUEDE APRETAR TODOS LOS PERNOS Y TORNILLOS INSTALADOS EN
EL PASO 1.

S3

S3

6



UTILIZACIÓN DEL ORDENADOR

   
    

 

NOTA: Sitúese siempre sobre los rieles laterales cuando ponga la cinta 
en funcionamiento. No arranque nunca la cinta mientras esté de pie sobre la 
banda de rodadura.

INICIO RÁPIDO:
Pulse el botón INICIO del ordenador para empezar su entrenamiento. La ventana 
LCD iniciará una cuenta atrás de 5 segundos, mostrando “5-4-3-2-1” antes de que 
la cinta comience a moverse. La cinta comenzará a moverse con una velocidad inicial 
de        1 km/h. Permita siempre que la cinta alcance una velocidad de 1.0 km/h antes de 
pisar la banda de rodadura. Puede pulsar el botón SPEED + o SPEED - de la consola 
del ordenador o del manillar para aumentar o disminuir la velocidad de carrera 
durante el ejercicio. La ventana SPEED mostrará su velocidad de carrera actual. El 

  rango de velocidad oscila desde un mínimo de 1,0 km/h hasta un máximo de 16,0 
km/h. Puede pulsar también uno de los botones INSTANT SPEED (3 / 6 / 9 / 12 ) 
de la consola del ordenador. La ventana SPEED mostrará la velocidad que usted haya 
seleccionado, y esta cambiará a 3 km/h, 6 km/h, 9 km/h, o 12 km/h 
respectivamente. La ventana TIME mostrará el tiempo transcurrido durante el 
entrenamiento en minutos y segundos. La ventana DISTANCE mostrará la distancia 
acumulativa recorrida durante el entrenamiento. La ventana CALORIES, mostrará el 
total de calorías quemadas durante el entrenamiento. La ventana PULSE, mostrará su 
ritmo cardíaco actual en pulsaciones por minuto (ppm). Para activar esta función, 
agarrare los sensores de pulso en ambos manillares durante el ejercicio, y la medida 
se mostrará tras 4-5 segundos. Para una lectura más precisa, agarre los sensores 
de pulso con las dos manos. Durante el entrenamiento, puede pulsar el botón 
STOP del ordenador para detener la cinta en cualquier momento, o bien, sacar la llave 
de seguridad para detener la cinta.

BOTONES DE FUNCIÓN:
START:
Pulse el botón START para comenzar a ejercitarse con distintos modos 
de entrenamiento.

STOP:
Pulse el botón STOP para detener el ejercicio en los distintos modos de entrenamiento.

7



PROG (PROGRAMA):
Pulse el botón PROG para seleccionar los programas de entrenamiento 
preconfigurados (P01-P12) antes de comenzar el ejercicio.

MODE:
Pulse el botón MODE para seleccionar las diferentes funciones (hora, distancia 
o calorías) y establecer los objetivos del ejercicio en modo programación manual
antes de empezar el entrenamiento.

SPEED + (ACELERAR):
Pulse el botón SPEED para aumentar los ajustes del tiempo de 
entrenamiento objetivo, la distancia o las calorías predeterminadas en modo 
programación manual antes del entrenamiento.
Pulse el botón SPEED para aumentar los ajustes del tiempo de entrenamiento en 
los programas predeterminados (P01-P12) antes de empezar.

SPEED - (DECELERAR):
Pulse el botón SPEED - para reducir los ajustes del tiempo de entrenamiento, 
la distancia o las calorías predeterminadas en modo programación manual 
antes del entrenamiento.
Pulse el botón SPEED - para reducir los ajustes del tiempo de entrenamiento en 
los programas predeterminados (P01-P12) antes de empezar.

VELOCIDAD INSTANTÁNEA (3 / 6 / 9 / 12): 
Se usa para alcanzar la velocidad deseada más rápidamente.

FUNCIONES DE LA PANTALLA:

TIME: Muestra el tiempo de entrenamiento transcurrido en minutos y segundos. 
Pulse el botón START del ordenador para empezar a ejercitarse. La ventana LCD 
iniciará una cuenta atrás de 5 segundos, mostrando “5-4-3-2-1” antes de que la 
cinta comience a moverse. La cinta comienza a moverse con una velocidad inicial 
de 1 km/h. Puede pulsar los botones
SPEED + o SPEED - del ordenador o del manillar para aumentar o disminuir la 
velocidad de Carrera durante el ejercicio. El tiempo comienza a contabilizarse 
desde 0:00 hasta 99:59 con incrementos de 1 segundo.

SPEED: Muestra la velocidad actual desde un mínimo de 1,0 km/h hasta un 
máximo de 16,0 km/h. Puede incrementar o disminuir la velocidad pulsando los 
botones SPEED + o SPEED - del ordenador o del manillar.

 Para aumentar / disminuir los ajustes del nivel de inclinación durante 
todos los períodos de entrenamiento en diferentes modos de entrenamiento.

INSTANT INCLINE (2 / 4 / 8 / 12):  se utiliza para alcanzar el nivel de inclinación 
deseado más rápidamente.

Attiva la funzionalità Bluetooth sul tuo dispositivo e rendilo rilevabile, scegli il dispositi-
vo mostrato "BTMP3" per accoppiarlo. Una volta accoppiato il dispositivo, puoi 
iniziare a utilizzare l'applicazione sul tuo dispositivo per riprodurre, mettere in pausa e 
regolare il volume, ecc.

MUSIC

LISTA DEI PEZZI E DEGLI ELEMENTI DI MONTAGGIO

S1 S2 S3

Bulloni a testa 
ovale per chiave a 

brugola M8x55
X2

Rondelle 
elastiche M8

X2

M8x16 Bulloni 
a brugola

X 8

S4

Chiave di
sicurezza x1

ATTREZZI

Chiave a
brugola

X 1

8



DISTANCE: Muestra la distancia recorrida durante el entrenamiento. Pulse el botón 
START del ordenador para comenzar a ejercitarse. La ventana LCD iniciará una cuenta 
atrás de 5 segundos, mostrando “5-4-3-2-1” antes de que la cinta comience a moverse. La 
cinta empieza a moverse con una velocidad inicial de 1 km/h.
Puede pulsar los botones SPEED + o SPEED - del ordenador o del manillar para aumentar
o disminuir la velocidad de carrera durante el ejercicio. La distancia comienza a
contabilizarse.

CALORIES: Muestra las calorías totales quemadas durante el entrenamiento. Pulse el 
botón START del ordenador para comenzar a ejercitarse. La ventana LCD iniciará una 
cuenta atrás de 5 segundos, mostrando “5-4-3-2-1” antes de que la cinta comience a 
moverse. La cinta comienza a moverse con una velocidad inicial de 1 km/h.
Puede pulsar los botones SPEED + o SPEED - del ordenador o del manillar para aumentar
o disminuir la velocidad de carrera durante el ejercicio.
Las calorías empiezan a contabilizarse (estos datos son una guía aproximada para la
comparación de las distintas sesiones de ejercicio y no deben usarse en un tratamiento
médico.

PULSE: Muestra su ritmo cardíaco actual en pulsaciones por minuto (ppm). Para activar 
esta función, agarrare los sensores de pulso de los manillares durante el ejercicio, y la 
medida se mostrará tras 2-5 segundos. Para una lectura más precisa, agarre los 
sensores de pulso con las dos manos.

ENTRENAMIENTO EN MODO PROGRAMACIÓN MANUAL:
Puede preconfigurar el tiempo, la distancia o las calorías en modo STOP antes de entrenar.
Solo una de las funciones puede preconfigurarse.

Para configurar el tiempo, pulse el botón MODE del ordenador hasta que vea que la 
ventana TIME comienza a parpadear. Pulse el botón SPEED + o SPEED - del ordenador

o del manillar para cambiar la configuración. Cada incremento es 1 minuto. El rango de
tiempo preconfigurado varía desde 5:00 hasta 99:00 minutos. Una vez que haya
configurado el tiempo objetivo, pulse el botón START del ordenador y empiece a
ejercitarse. La banda de rodadura comienza a moverse a una velocidad inicial de 0,8
km/h. Puede pulsar los botones SPEED + o SPEED - del ordenador o del manillar para
aumentar o reducir la velocidad de carrera durante su entrenamiento. Comenzará una
cuenta atrás desde el tiempo objetivo configurado hasta 0:00, retrocediendo cada
segundo. Cuando la cuenta atrás llegue a 0:00, el ordenador emitirá un sonido de aviso y
la cinta se detendrá de forma automática.

Para establecer la distancia, pulse el botón MODE del ordenador hasta que la 
ventana DISTANCE comience a parpadear. Pulse los botones SPEED + o SPEED -del 
ordenador para cambiar la configuración. La distancia objetivo preconfigurada varía 
desde 0,5 km hasta 65,0 km. La distancia por defecto es de 1 km. La banda de rodadura 
comienza a moverse a una velocidad inicial de 1 km/h. Puede pulsar los botones SPEED+ o 
SPEED - del ordenador o del manillar para aumentar o reducir la velocidad de carrera

Attiva la funzionalità Bluetooth sul tuo dispositivo e rendilo rilevabile, scegli il dispositi-
vo mostrato "BTMP3" per accoppiarlo. Una volta accoppiato il dispositivo, puoi 
iniziare a utilizzare l'applicazione sul tuo dispositivo per riprodurre, mettere in pausa e 
regolare il volume, ecc.

MUSIC

LISTA DEI PEZZI E DEGLI ELEMENTI DI MONTAGGIO

S1 S2 S3

Bulloni a testa 
ovale per chiave a 

brugola M8x55
X2

Rondelle 
elastiche M8

X2

M8x16 Bulloni 
a brugola

X 8

S4

Chiave di
sicurezza x1

ATTREZZI

Chiave a
brugola

X 1

9



durante su entrenamiento. Se iniciará una cuenta atrás desde la distancia 
objetivo preconfigurada hasta 0,00. Cuando la distancia alcance 0,00, el ordenador 
emitirá un sonido de aviso y la cinta se detendrá de forma automática.

Para configurar las calorías pulse el botón MODE del ordenador hasta que la 
ventana CALORIES comience a parpadear. Pulse el botón SPEED + o SPEED - del 
ordenador para cambiar la configuración. Las calorías objetivo varían desde 10 hasta 
995 calorías. Una vez que las haya configurado, pulse el botón INICIO del 
ordenador y comience el ejercicio. La banda de rodadura comienza a moverse a 
una velocidad inicial de 1 km/h. Puede pulsar los botones SPEED + o SPEED - 
del ordenador o del manillar para aumentar o reducir la velocidad de carrera 
durante su entrenamiento. La cuenta atrás de calorías se inicia en la cantidad 
preconfigurada y finaliza en 0. Cuando la cuenta atrás de calorías llegue a 0, el 
ordenador emitirá un sonido de aviso y la cinta se detendrá de forma automática.

Velocidad (km/h) por segmentoPrograma

10



Software de aplicación (APP)

Comprueba si tu dispositivo móvil confirma los requisitos de la aplicación.
Los requisitos de cada aplicación se muestran en Google PlayStore o AppStore.

Echa un vistazo a Kinomap de forma gratuita y con opción de pago o elige la aplicación gratuita FIT&HOME.

Android iOSKinomap

Android iOSFIT&SHOW

Por favor, comprenda que no podemos ofrecerle una guía completa de funcionamiento de la aplicación 
dentro de este manual, ya que la aplicación se actualizará de vez en cuando. 
Este proceso puede introducir cambios en el funcionamiento o el diseño de la aplicación. Consulte las 
instrucciones de la tienda de descargas de aplicaciones específicas o póngase en contacto con nosotros.

Recuerda activar la función Bluetooth en tu dispositivo.

11



12



13



14



Política de Garantía
En cumplimiento de lo establecido en el art. 16.7 del Real Decreto-ley 7/2021, de 
27 de abril. Ref. BOE-A-2021-6872, se pone a disposición de los interesados, 
accediendo a www.prixton.com, cuanta información sea necesaria para ejercer 
los derechos de desistimiento atendiendo a los supuestos que recoge dicha 
ley, dando por cumplidas las exigencias que esta demanda de la parte vende-
dora en el contrato de venta.

Las características técnicas y eléctricas que aquí se brindan corresponden a 

mejor equipo. 

Por la presente, La Trastienda Digital SL como propietaria de la marca comercial 
Prixton, ubicada en Avenida Cervantes 49, módulo 25, Basauri 48970, Bizkaia, 
declara que el tipo de equipo radioeléctrico que a continuación se expone:

Es conforme con la Directiva 2014/53/UE del Parlamento Europeo y del consejo 
de 16 de abril de 2014.

El texto completo de la declaración UE de conformidad está disponible en la 
dirección de Internet siguiente:
www.prixton.com 

LA TRASTIENDA DIGITAL

MARCA

PRIXTON FITNESS

MODELO DESCRIPCIÓN CATEGORIA

RUN FIT EVEREST 
PRO RF300

CINTA DE CORRER

15



Turn on Bluetooth capability on your device and make it discoverable, choose the shown 
device "BTMP3" to pair it. Once the device is paired you can start using the application on 
your device to play, pause and adjust the volume,etc.

MUSIC

S1 S2 S3

Hexagon Socket 
Oval Head Bolt 

M8x55 X2

Spring Washer 
M8 X2

M8x16 Allen 
Bolt X 8

S4

Safety Tether 
Key X 1

TOOLS

Allen Wrench
X 1

HARDWARE LIST & ASSEMBLY COMPONENT

EN

16



17



18



ASSEMBLY INSTRUCTIONS

STEP 1

It is recommended to have a second person assist with this step. Lift both Right and Left
Handlebar Support Tubes up. One person should hold the both Right and Left
Handlebar Support Tubes in place while the other person tightens the bolts.
Lift both Right and Left Handlebar Support Tubes up and align bolt holes. Use two
M8x55 Hexagon Socket Oval Head Bolts (S1) and two M8 Spring Washers (S2) to secure
both Right and Left Handlebar Support Tubes onto the Base Frame.

Use two M8x16 Hexagon Socket Oval Head Bolts (S3) to secure both Right and Left
Handlebar Support Tubes onto the Base Frame .

Semi-tighten all bolts with the Allen Wrench provided.

NOTE: DO NOT FULLY TIGHTEN BOLTS IN STEP 1 UNTIL STEP 2 IS COMPLETED.

S1

S2

S3

19



STEP 2

It is recommended to have a second person assist with this step. One person should hold
the Computer Console in place while the other person connects the cables.
Connect the Main Control Cable from the Right Handlebar Support Tube to the
cable that comes from the Computer Console.

Install the Handlebar Bracket onto the Right and Left Handlebar Support Tubes, using two
M8x16 Hexagon Socket Oval Head Bolts (S3).

IMPORTANT: While sliding the Handlebar Bracket onto the Right and Left Handlebar
Support Tubes make sure the cables are installed inside the Right Handlebar
Support Tube and pay attention not to pinch the cables.

NOWPLEASE FULLY TIGHTENALL BOLTS INSTALLED IN STEP 1 .

S3

S3

20



OPERATING THE COMPUTER

NOTE: Always stand on the side rails when you start the treadmill, never start the 
treadmill while you are standing on the running belt.

QUICK START:
Press the START button on the computer to start exercise, the LCD window will 
countdown 5 seconds with the LCD showing "5-4-3-2-1" before the running belt starts 
moving. The running belt starts moving with an initial speed of 1.0 KPH. Always allow 
the
treadmill to reach a speed of 1.0 KPH before stepping on to the running belt. You may 
press the SPEED  or SPEED  button on the computer console or handlebar to

             
              
               

                    
                

                
             

            
            

               
              

              
              

                  
 

 

          

          

 
             

increase or decrease the running speed during exercise. The split window of SPEED
will display your current running speed. The speed range is from the minimum 1.0
KPH to the maximum 16.0 KPH. You may also press one of the INSTANT SPEED
buttons (3/ 6 / 9 / 12 ) on the computer console and the split window of SPEED will
display the speed that you have pressed and the running speed will change to 3 KPH,
6 KPH, 9 KPH, or 12 KPH respectively. The split window of TIME will display
your elapsed workout time in minutes and seconds. The split window of DISTANCE
will display the accumulative distance travelled during workout. The split window of
CALORIES will display the total accumulated calories burned during workout. The split•

window of PULSE will display your current heart rate in beats per minute (BPM). To
activate, grip the hand pulse sensors on both handlebars during exercise and the pulse•

will display after 4-5 seconds. For a more accurate reading, grip pulse sensors with
both hands. During training, you may press the STOP button on the computer console•

to stop the treadmill running at any time, or pull out the safety tether key to stop the
treadmill running.

FUNCTION BUTTONS:
START:
Press the START button to start training on different training mode.

STOP:
Press the STOP button to stop training on different training mode.

PROG (PROGRAM):
Press the PROG button to select the pre-set training program (P01-P12) mode before
training.

21



MODE:
Press the MODE button to select different functions (time, distance, or calories) for 
setting exercise goals in manual program mode before training.

SPEED (SPEED UP):
Press the SPEED button to make upward adjustments for pre-setting target 
training time, distance, or calorie in manual program mode before training.
Press the SPEED button to make upward adjustments for pre-setting target 
training time in pre-set training program (P01-P12) mode before training.

SPEED (SPEED DOWN):
Press the SPEED button to make backward adjustments for pre-setting target 
training time, distance, or calorie in manual program mode before training.
Press the SPEED button to make backward adjustments for pre-setting target 
training time in pre-set training program (P01-P12) mode before training.

INSTANT SPEED (3 / 6 / 9 / 12): 
Used to reach desired speed more quickly.

DISPLAY FUNCTIONS:
TIME: Displays your elapsed workout time in minutes and seconds. Press the 
START button on the computer to begin exercising, the LCD window will count

5 seconds with the LCD showing "5-4-3-2-1" before the running belt starts 
moving. The running belt starts moving with an initial speed of 1.0 KPH. You may 
press the SPEED or SPEED button on the computer console or handlebar to 
increase or decrease the running speed during exercise. Time starts counting up 
from 0:00 to 99:59 per 1 second increment.

SPEED: Displays the current speed from the minimum 1.0 KPH to the maximum
16.0 KPH. You may increase or decrease the speed by pressing the SPEED or 
SPEED button on the computer console or handlebar.

(DISTANCE: Displays the accumulative distance travelled during workout. Press 
the START button on the computer to begin exercising, the LCD window will 
countdown 5 seconds with the LCD showing "5-4-3-2-1" before the running belt starts 
moving. The running belt starts moving with an initial speed of 1.0 KPH. You may 
press the SPEED or SPEED button on the computer console or handlebar to 
increase or decrease the running speed during exercise. Distance starts counting 
up.

-down 

To increase / decrease the incline level settings during all training 
periods in different training modes.

INSTANT INCLINE (2/4/8/12):Used to reach the desired incline level more quickly.

Aktivieren Sie die Bluetooth-Funktion Ihres Geräts und machen Sie es erkennbar. 
Wählen Sie das angezeigte Gerät "BTMP3", um es zu koppeln. Sobald das Gerät 
gekoppelt ist, können Sie die Anwendung auf Ihrem Gerät verwenden, um die 
Lautstärke abzuspielen, anzuhalten und anzupassen.

MUSIC

22



CALORIES: Displays the total calories burned during your workout. Press the START 
button on the computer to begin exercising, the LCD window will countdown 5 seconds
 with the LCD showing "5-4-3-2-1" before the running belt starts moving. The 
running belt starts moving with an initial speed of 1.0 KPH. You may press the SPEED 

or SPEED button on the computer console or handlebar to increase or decrease 
the running speed during exercise. Calorie starts counting up. (This data is a rough 
guide for comparison of different exercise sessions and should not be used in medical 
treatment).

 
 

 

  

 
  

  
 

  
  

 
  

PULSE: Displays your current heart rate in beats per minute (BPM). To activate, grip 
the hand pulse sensors during exercise and the pulse will display after 2-5 seconds. 
For a more accurate reading, grip pulse sensors with both hands.

TRAINING IN MANUAL PROGRAM MODE:
You may pre-set target TIME, DISTANCE, or CALORIES in STOP mode before training. 
Only one of the functions can be pre-set.
To set TIME press the MODE button on the computer console unitl you see the split 
window of TIME begin blinking. Press the SPEED or SPEED button on the
computer console or handlebar to change the setting. Each increment is 1 minute. 
The pre-set target time range is from 5:00 to 99:00 minutes. Once you pre-set target 
time, press the START button on the computer to begin exercising. The running belt 
starts moving with an initial speed of 1.0 KPH. You may press the SPEED or SPEED 
button on the computer console or handlebar to increase or decrease the running 
speed during exercise. Time starts counting down from pre-set target time to 0:00 per 
1 second backward. When the pre-set target time counts down to 0:00, the computer 
will beep to alert you and the treadmill will stop automatically.

 

 

 

  
 

  

To set DISTANCE press the MODE button on the computer console until you see the
window of DISTANCE begin blinking. Press the SPEED or SPEED button on the
computer console to change the setting. The pre-set target distance range is from 0.5 
to  65.0 kilometers, the default distance is 1 kilometer. Once you pre-set target 
distance, press the START button on the computer to begin exercising. The running 
belt starts moving with an initial speed of 1.0 KPH. You may press the SPEED or 
SPEED button on the computer console or handlebar to increase or decrease 
the running speed during exercise. Distance starts counting down from pre-set target 
distance to 0.00. When the pre-set target distance counts down to 0.00, the computer 
will beep to alert you and the treadmill will stop automatically.

To set CALORIES press the MODE button on the computer console until you see the
window of CALORIES begin blinking. Press the SPEED or SPEED button on the
computer console to change the setting. The pre-set target calorie range is from 10 to 
995 calories. Once you pre-set target calories, press the START button on the 
computer to begin exercising. The running belt starts moving with an initial speed of 
1.0 KPH. You may press the SPEED or SPEED button on the computer console or 
handlebar to increase or decrease the running speed during exercise. calories start 
counting down from pre-set target calories to 0. When the pre-set target calories 
counts down to 0, the computer will beep to alert you and the treadmill will stop 
automatically.

Aktivieren Sie die Bluetooth-Funktion Ihres Geräts und machen Sie es erkennbar. 
Wählen Sie das angezeigte Gerät "BTMP3", um es zu koppeln. Sobald das Gerät 
gekoppelt ist, können Sie die Anwendung auf Ihrem Gerät verwenden, um die 
Lautstärke abzuspielen, anzuhalten und anzupassen.

MUSIC

23



24



Application Software (APP)

Check if your mobile device confirms the requirements for the application.
The requirements of each application are shown in the Google PlayStore or AppStore.

Check out Kinomap for free with payment option or choose the free FIT&HOME app.

Android iOSKinomap

Android iOSFIT&SHOW

Please understand that we are not able to offer you a complete operation guide of the application inside this 
manual, as the app will be updated from time to time. 
This process can make changes to the operation or the design of the application. Please refer to the instruc-
tions inside the specific app download store or contact us.

Please remember to turn on the Bluetooth feature on your device.

25



26



27



28



Warranty Policy
This product is guaranteed for 2 years from the date of purchase. When you 
have a problem that you can not solve, you must access the web 
www.prixton.com and click on the contact option to send us your assistance 
form.

be changed without prior notice in order to provide improved equipment.

We, La Trastienda Digital located in  Avenida Cervantes 49, módulo 25, Basauri 
48970, Bizkaia hereby declare that the following goods, imported and selling at 
European market:

Are in compliance with the EC Council Directive of 2014/53/EU (EM DIRECTIVE) 
and harmonized standards and with the board of the 16th of April 2014.

The complete text of the UE Declaration of conformity is available anytime at this 
website address:
www.prixton.com 

LA TRASTIENDA DIGITAL

BRAND

PRIXTON FITNESS

MODEL DESCRIPTION CATEGORY

RUN FIT EVEREST 
PRO RF300

TREADMILL

29



Activez la fonctionnalité Bluetooth sur votre appareil et rendez-le détectable, choisissez 
le périphérique affiché "BTMP3" pour le coupler. Une fois l'appareil couplé, vous 
pouvez commencer à utiliser l'application sur votre appareil pour lire, mettre en pause 
et régler le volume, etc.

MUSIC

LI
'
S
A

T
S
E
SE

D
M
U

B
M
L
A
A
T
G
É
E
R
D
I
'
E
A
L
S
E
S
T
EM

DE
B

S
LA

C
G
O
E
MPOSANTS

S1 S2 S3

Boulon à tête 
ronde Hexagonale 
creuse Diam.8 mm 

x L.55 mm X2

Rondelle 
ressort Diam.8 

mm X2

Boulon à tête
cylindrique

Diam.8 mm x
L.16 mm

X 8

S4

Clé de 
sécurité X 1

OUTILS

Clé
hexagonale

X 1

LI
'
S
A

T
S
E
SE

D
M
U

B
M
L
A
A
T
G
É
E
R
D
I
'
E
A
L
S
E
S
T
EM

DE
B

S
LA

C
G
O
E
MPOSANTS 

S1 S2 S3

Boulon à tête 
ronde Hexagonale 
creuse Diam.8 mm 

x L.55 mm X2

Rondelle 
ressort Diam.8 

mm X2

Boulon à tête
cylindrique

Diam.8 mm x
L.16 mm

X 8

 

S4

Clé de 
sécurité X 1

OUTILS

Clé
hexagonale

X 1

FR

30



LI
'
S
A

T
S
E
SE

D
M
U

B
M
L
A
A
T
G
É
E
R
D
I
'
E
A
L
S
E
S
T
EM

DE
B

S
LA

C
G
O
E
MPOSANTS

S1 S2 S3

Boulon à tête 
ronde Hexagonale 
creuse Diam.8 mm 

x L.55 mm X2

Rondelle 
ressort Diam.8 

mm X2

Boulon à tête
cylindrique

Diam.8 mm x
L.16 mm

X 8

S4

Clé de 
sécurité X 1

OUTILS

Clé
hexagonale

X 1

31



32



CONSIGNES DE MONTAGE

ÉTAPE 1

Il est recommandé de faire appel à une deuxième personne pour cette étape. Soulever les
montants droit et gauche. Une personne tient les montants droit et gauche
pendant que l'autre serre les boulons.
Soulever les montants droit et gauche et aligner les orifices des boulons. Utiliser deux
boulons à tête ronde hexagonale creuse Diam.8 mm x L.55 mm (S1) et deux rondelles
ressort Diam.8 mm (S2) pour fixer les montants droit et gauche sur la base.
Utiliser deux boulons à tête ronde hexagonale creuse Diam.8 mm x L.16 mm (S3) pour
fixer les montants droit et gauche sur la base.

Ne serrer qu'à moitié tous les boulons à l'aide de la clé hexagonale fournie.

REMARQUE : NE PAS SERRER COMPLÈTEMENT LES BOULONS LORS DE L'ÉTAPE
1 TANT QUE L'ÉTAPE 2 N'EST PAS TERMINÉE.

S1

S2

S3

33



ÉTAPE 2

Il est recommandé de faire appel à une deuxième personne pour cette étape. Une
personne tient la console pendant que l'autre personne raccorde les câbles.
Raccorder le câble de commande principal du montant droit au câble provenant
de la console.

Installer les rampes sur les montants droit et gauche, en utilisant deux boulons à tête ronde
hexagonale creuse Diam.8 mm x L.16 mm (S3).

ATTENTION : S’assurer que les câbles soient installés à l'intérieur du montantdroit et
veiller à ne pas les pincer en faisant glisser les rampes sur les montants droit et
gauche.

À PRÉSENT, SERRER ENTIÈREMENT TOUS LES BOUCHONS INSTALLÉS À L'ÉTAPE
1.

S3

S3

34



FONCTIONNEMENT DE LA CONSOLE

REMARQUE : Toujours se tenir aux barres latérales lorsque du démarrage du 
tapis de course. Ne jamais démarrer le tapis de course lorsque vous êtes 
debout sur la plateforme.

QUICK START :
Appuyer sur le bouton START de la console pour démarrer l'exercice, l'écran LCD 
affichera un décompte de 5 secondes par « 5-4-3-2-1 » avant que la plateforme de course 
ne se mette en marche. La plateforme de course démarre avec une vitesse initiale de 1,0 
km/h. Toujours laisser le tapis de course atteindre une vitesse de 1,0 km/h avant de

monter sur la plateforme. Il est possible d’appuyer sur le bouton SPEED ou SPEED 
de la console ou de la rampe pour augmenter ou diminuer la vitesse de course pendant 
l'exercice. La vitesse varie entre 1,0 km/h au minimum et 16,0 km/h au maximum. Il est 
également possible d’appuyer sur l'un des boutons INSTANT SPEED (3/6/9/12) de la 
console et la fenêtre SPEED affichera la vitesse sélectionnée. La vitesse de course passera 
respectivement à 3 km/h, 6 km/h, 9 km/h,  ou 12 km/h. La fenêtre TIME affichera 
le temps d'entraînement écoulé en minutes et secondes. La fenêtre DISTANCE affichera 
la distance totale parcourue pendant l'entraînement. La fenêtre CALORIES affichera le 
total de calories brûlées pendant l'entraînement. La fenêtre PULSE affichera la fréquence 
cardiaque en temps réel en battements par minute (BPM). Pour l'activer, saisir les 
capteurs sur les deux rampes pendant l'exercice et la fréquence cardiaque s'affichera 
après 4-5 secondes. Pour une lecture plus précise, saisir les capteurs avec les deux 
mains. Pendant l'entraînement, appuyer sur le bouton STOP de la console ou retirer la 
clé de sécurité pour arrêter le tapis de course à tout moment.

FONCTION DES BOUTONS :
START :
Appuyer sur le bouton START pour commencer n'importe quel mode d'entraînement.

STOP :
Appuyer sur le bouton STOP pour arrêter n'importe quel mode d'entraînement.

PROG (PROGRAMME) :
Appuyer sur le bouton PROG pour sélectionner le programme d'entraînement
prédéfini (P01-P12) avant l'entraînement.

35



MODE :
Appuyer sur le bouton MODE pour sélectionner les différentes fonctions (temps, 
distance ou calories) afin d'établir manuellement les objectifs d'exercice avant 
l'entraînement.

SPEED (AUGMENTATION DE LA VITESSE) :
Appuyer sur le bouton SPEED pour augmenter les réglages prédéfinis (temps, distance
ou calories) afin d'établir manuellement les objectifs d'exercice avant l'entraînement. 
Appuyer sur le bouton SPEED pour augmenter le temps du programme d'exercice 
prédéfini des modes d'entraînement (P01-P12) avant l'entraînement.

SPEED (DIMINUER LA VITESSE) :
Appuyer sur le bouton SPEED pour diminuer les réglages prédéfinis (temps, distance
ou calories) afin d'établir manuellement les objectifs d'exercice avant l'entraînement. 
Appuyer sur le bouton SPEED pour diminuer le temps du programme d'exercice 
prédéfini des modes d'entraînement (P01-P12) avant l'entraînement.

INSTANT SPEED (3/6/9/12): 
Utilisés pour atteindre plus rapidement la vitesse souhaitée.

FONCTIONS GÉNÉRALES :
TIME : Affiche le temps d'entraînement écoulé en minutes et secondes. Appuyer sur 
le bouton START de la console pour démarrer l'exercice, l'écran LCD affichera un 
décompte de 5 secondes par « 5-4-3-2-1 » avant que la plateforme de course ne se mette 
en marche. La plateforme de course démarre avec une vitesse initiale de 1,0 km/h.
Appuyer sur le bouton SPEED ou SPEED de la console ou de la rampe pour
augmenter ou diminuer la vitesse de course pendant l'exercice. Le chronométrage 
démarre de 0:00 à 99:59 par intervalle d'une seconde.

SPEED : Affiche la vitesse en temps réel entre 1,0 km/h au minimum et
16,0 km/h au maximum. Il est possible d’augmenter ou de diminuer la vitesse en 
appuyant sur le bouton SPEED ou SPEED de la console ou de la rampe.

(DISTANCE : Affiche la distance totale parcourue pendant l'entraînement. Appuyer sur le 
bouton START de la console pour démarrer l'exercice, l'écran LCD affichera un décompte 
de5 secondes par « 5-4-3-2-1 » avant que la plateforme de course ne se mette en marche. 
La plateforme de course démarre avec une vitesse initiale de 1,0 km/h. Appuyer sur le
bouton SPEED ou SPEED de la console ou de la rampe pour augmenter ou
diminuer la vitesse de course pendant l'exercice. Le décompte de la distance commence.

Pour augmenter / diminuer les réglages du niveau d'inclinaison pendant 
toutes les périodes d'entraînement dans différents modes d'entraînement.

INCLINE INSTANTANÉE (2/4/8/12) :Utilisé pour atteindre plus rapidement le niveau 
d'inclinaison souhaité.

Ligue o recurso Bluetooth no seu dispositivo e torne-o detectável, escolha o dispositivo 
mostrado "BTMP3" para emparelhá-lo. Assim que o dispositivo estiver emparelhado, 
você pode começar a usar o aplicativo em seu dispositivo para reproduzir, pausar e 
ajustar o volume, etc.

MUSIC

36



LISTA DE HERRAMIENTAS Y COMPONENTES DE ENSAMBLAJE

S1 S2 S3

Perno de cabeza 
ovalada y cuello 

hexagonal 
M8x55 X2

Arandela de resorte 
M8 X2

Tornillo Allen M8x16
X 8

S4

Llave de 
seguridad X 1

HERRAMIENTAS

Llave Allen
X 1

CALORIES : Affiche le total de calories brûlées pendant l'entraînement. Appuyer sur 
le bouton START de la console pour démarrer l'exercice, l'écran LCD affichera 
un décompte de 5 secondes par « 5-4-3-2-1 » avant que la plateforme de course ne se 
mette en marche. La plateforme de course démarre avec une vitesse initiale 
de 1,0
km/hAppuyer sur le bouton SPEED ou SPEED de la console ou de la rampe
pour augmenter ou diminuer la vitesse de course pendant l'exercice. Le décompte 
des calories commence.. (Ces données servent de repère approximatif pour 
comparer les différentes séances d'exercice et ne doivent pas être utilisées dans 
le cadre d'un traitement médical).

PULSE : Affiche votre fréquence cardiaque en temps réel en battements par minute
(BPM) Pour l'activer, saisir les capteurs pendant l'exercice et la fréquence cardiaque 
s'affichera après 2-5 secondes. Pour une lecture plus précise, saisir les capteurs avec 
les deux mains.

PROGRAMMATION MANUELLE DU MODE D'ENTRAÎNEMENT
Vous pouvez prédéfinir les objectifs TIME, DISTANCE ou CALORIES en mode STOP 
avant l'entraînement.
Une seule fonction peut être prédéfinie.

Pour régler TIME, appuyer sur le bouton MODE de la console jusqu'à ce que la
fenêtre TIME clignote. Appuyer sur le bouton SPEED ou SPEED de la console
ou de la rampe pour paramétrer. L'intervalle de temps est d'une minute. La durée 
souhaitée prédéfinie est comprise entre 5 et 99 minutes. Une fois la durée souhaitée 
prédéfinie, appuyer sur la touche START de la console pour commencer l'exercice.
La plateforme de course démarre avec une vitesse initiale de 1,0 km/h. Appuyer sur
le bouton SPEED ou SPEED la console ou de la rampe pour augmenter ou
diminuer la vitesse de course pendant l'exercice. Le décompte du temps
commence, en seconde, à partir de la durée choisie jusqu'à 0:00. Lorsque la durée 
souhaitée prédéfinie atteint 0:00, la console émettra un signal sonore pour vous
avertir et le tapis de course s'arrêtera automatiquement.

Pour régler DISTANCE, appuyer sur le bouton MODE de la console jusqu'à ce que la
fenêtre DISTANCE clignote. Appuyer sur le bouton SPEED ou SPEED de la
console pour paramétrer. La distance souhaitée prédéfinie est comprise entre 0,5 et 
65.0 km, la distance par défaut est de 1 km. Une fois la distance souhaitée prédéfinie, 
appuyer sur la touche START de la console pour commencer l'exercice. La 
plateforme de course démarre avec une vitesse initiale de 1,0 km/h. Appuyer sur le 
bouton SPEED

ou SPEED la console ou de la rampe pour augmenter ou diminuer la vitesse
de course pendant l'exercice. La distance se met à décompter à partir de la distance 
choisie jusqu'à 0,00. Lorsque la distance souhaitée prédéfinie atteint 0,00, la console 
émettra un signal sonore et le tapis de course s'arrêtera automatiquement.

Ligue o recurso Bluetooth no seu dispositivo e torne-o detectável, escolha o dispositivo 
mostrado "BTMP3" para emparelhá-lo. Assim que o dispositivo estiver emparelhado, 
você pode começar a usar o aplicativo em seu dispositivo para reproduzir, pausar e 
ajustar o volume, etc.

MUSIC

LISTA DE HARDWARE E COMPONENTES DE
MONTAGEM

S1 S2 S3

Parafuso de 
Cabeça Oval com 

Ranhura Sextavada 
M8x55 X2

Anilha Plana 
M8 X2

Parafuso 
Allen M8x16

X 8

S4

Chave de 
Tirante de 

segurança X 1

FERRAMENTAS

Chave Allen
X 1

37



LISTA DE HERRAMIENTAS Y COMPONENTES DE ENSAMBLAJE

S1 S2 S3

Perno de cabeza 
ovalada y cuello 

hexagonal 
M8x55 X2

Arandela de resorte 
M8 X2

Tornillo Allen M8x16
X 8

S4

Llave de 
seguridad X 1

HERRAMIENTAS

Llave Allen
X 1

Pour régler CALORIES, appuyer sur le bouton MODE de la console jusqu'à ce que la
fenêtre CALORIES clignote. Appuyer sur le bouton SPEED ou SPEED de la
console pour paramétrer. Le nombre de calories souhaité prédéfini est compris 
entre 10 et 995 calories. Une fois le nombre de calories à brûler prédéfini, appuyer 
sur la touche START de la console pour commencer l'exercice. La plateforme de 
course
démarre avec une vitesse initiale de 1,0 km/h. Appuyer sur le bouton SPEED ou

SPEED de la console ou de la rampe pour augmenter ou diminuer la vitesse de
course pendant l'exercice. Le décompte des calories démarre à partir du nombre 
de calories cibles prédéfinies pour descendre à 0. Lorsque le nombre de calories 
brûlées prédéfini atteint 0, la console émettra un signal sonore et le tapis de 
course s'arrêtera automatiquement.

LISTA DE HARDWARE E COMPONENTES DE
MONTAGEM

S1 S2 S3

Parafuso de 
Cabeça Oval com 

Ranhura Sextavada 
M8x55 X2

Anilha Plana 
M8 X2

Parafuso 
Allen M8x16

X 8

S4

Chave de 
Tirante de 

segurança X 1

FERRAMENTAS

Chave Allen
X 1

38



Logiciel d'application (APP)

Vérifiez si votre appareil mobile répond aux exigences de l'application.
Les exigences pour chaque application sont affichées dans le Google PlayStore ou l'AppStore.

Consultez Kinomap gratuitement avec option de paiement ou choisissez l'application gratuite FIT&HOME.

Android iOSKinomap

Android iOSFIT&SHOW

N'oubliez pas d'activer la fonction Bluetooth sur votre appareil.
Veuillez comprendre que nous ne pouvons pas vous fournir un guide complet du fonctionnement de 
l'application dans ce manuel, car l'application sera mise à jour de temps en temps. 
Ce processus peut introduire des changements dans le fonctionnement ou la conception de l'application. 
Veuillez vous référer aux instructions de la boutique de téléchargement pour les applications spécifiques 
ou nous contacter.

N'oubliez pas d'activer la fonction Bluetooth sur votre appareil.

39



3740



41



42



Politique de Garantie
Ce produit est garanti 2 ans à compter de la date d`achat. Lorsque vous avez 
un problème que vous ne pouvez pas résoudre, vous devez accéder au site 
www.prixton.com et cliquer sur l`option de contact pour nous envoyer votre 
formulaire d`assistance.

Les caractéristiques techniques et électriques ici correspondent à des unités 

matériel.

La Trastienda Digital SL, en tant que propriétaire de la marque Prixton, située 
dans Avenida Cervantes 49, módulo 25, Basauri 48970, Bizkaia, déclare que le 
type d'équipement radioélectrique indiqué ci-dessous est le suivant:

Est conforme à la directive 2014/53/UE du Parlement européen et du Conseil du 
16 avril 2014.

Le texte intégral de la déclaration de conformité de l'UE est disponible sur 
Internet à l'adresse suivante: www.prixton.com 

LA TRASTIENDA DIGITAL 

MARQUE

PRIXTON FITNESS

MODÈLE DESCRIPTION CATÉGORIE

RUN FIT EVEREST
PRO RF300

TREADMILL

43



Attiva la funzionalità Bluetooth sul tuo dispositivo e rendilo rilevabile, scegli il dispositi-
vo mostrato "BTMP3" per accoppiarlo. Una volta accoppiato il dispositivo, puoi 
iniziare a utilizzare l'applicazione sul tuo dispositivo per riprodurre, mettere in pausa e 
regolare il volume, ecc.

MUSIC
IT

LISTA DEI PEZZI E DEGLI ELEMENTI DI MONTAGGIO

S1 S2 S3

Bulloni a testa 
ovale per chiave a 

brugola M8x55
X2

Rondelle 
elastiche M8

X2

M8x16 Bulloni 
a brugola

X 8

S4

Chiave di
sicurezza x1

ATTREZZI

Chiave a
brugola

X 1

LISTA DEI PEZZI E DEGLI ELEMENTI DI MONTAGGIO

S1 S2 S3

Bulloni a testa 
ovale per chiave a 

brugola M8x55
X2

Rondelle 
elastiche M8

X2

M8x16 Bulloni 
a brugola

X 8

S4

Chiave di
sicurezza x1

ATTREZZI

Chiave a
brugola

X 1
44



LISTA DEI PEZZI E DEGLI ELEMENTI DI MONTAGGIO

S1 S2 S3

Bulloni a testa 
ovale per chiave a 

brugola M8x55
X2

Rondelle 
elastiche M8

X2

M8x16 Bulloni 
a brugola

X 8

S4

Chiave di
sicurezza x1

ATTREZZI

Chiave a
brugola

X 1

45



46



ISTRUZOINI DI ASSEMBLAGGIO

FASE 1

Si raccomanda di farsi assistere da un’altra persona in questa fase. Sollevare
contemporaneamente I tubi di supporto destro e sinistro del manubrio. Una persona
dovrebbe tenere in posizione entrambi i tubi di supporto del manubrio mentre l'altra stringe
i bulloni.

Sollevare i tubi di supporto del manubrio destro e sinistro e allineare i fori dei bulloni.

Utilizzare due bulloni a testa ovale per chiave a brugola M8x55 (S1) e due rondelle
elastiche M8 (S2) per fissare i tubi di supporto del manubrio destro e sinistro sul telaio di
base.

Serrare a fondo tutti i bulloni con la chiave a brugola.

NOTA: NON SERRARE COMPLE TAMENTE I BULLONI NELLA FASE 1 FINO AL
COMPLETAMENTO DELLA FASE 2

S1

S2

S3

47



FASE 2

Si raccomanda di farsi assistere da un’altra persona in questa fase. Uno dovrebbe tenere la
console del computer in posizione mentre l'altro collega i cavi.
Collegare il cavo di controllo principale dal tubo destro di supporto del manubrio al cavo
proveniente dalla console del computer.

Installare la staffa del manubrio sui tubi di supporto del manubrio destro e sinistro, usando
due bulloni a testa ovale con testa per brugola M8x16 (S3).

IMPORTANTE: facendo scorrere la staffa del manubrio sul tubi di supporto manubrio
destro e sinistro, accertarsi che i cavi siano installati all'interno del tubo di supporto
destro del manubrio e fare attenzione a non pizzicare i cavi.

ORA STRINGERE BENE TUTTI I BULLONIPOSIZIONATI NELLA FASE 1.

S3

S3

48



FUZIONAMENTO DEL COMPUTER

NOTA: stare sempre sulle guide laterali quando si avvia il tapis roulant, 
non avviare mai il tapis roulant mentre si è in piedi sul tappeto in corsa.

AVVIO RAPIDO:
Premere il pulsante START del computer per iniziare l'esercizio, la finestra LCD 
eseguirà un conto alla rovescia di 5 secondi con il display LCD che visualizza 
"5-4-3-2-1" prima che il nastro scorrevole inizi a muoversi. Il nastro inizia a muoversi 
con una velocità iniziale di 1,0 Km/h. Lasciare sempre che il tapis roulant raggiunga 
la velocità di 0,8 Km/h prima di salire sul nastro. Premendo il pulsante SPEED o 
SPEED sulla console del computer o sul manubrio si può aumentare o diminuire 
la velocità di marcia durante l'esercizio. La finestra suddivisa SPEED visualizzerà la 
velocità di corsa attuale. La scala delle velocità vanno da un minimo di 1,0 Km/h a 
un massimo di 16,0 Km/h. Premendo uno dei pulsanti ISTANT SPEED (3 / 6 / 9 / 12)
sulla console del computer, la finestra divisa SPEED visualizzerà la velocità 
premuta e la velocità di corsa passerà alla velocità corrispondente, cioè a 3, 6, 9, 
o 12 Km/h. La finestra divisa TIME visualizzerà il tempo di allenamento trascorso in
minuti e secondi. La finestra suddivisa DISTANCE visualizzerà la distanza cumulativa
percorsa durante l'allenamento. La finestra suddivisa di CALORIES visualizzerà il
totale complessivo delle calorie bruciate durante l'allenamento. La finestra suddivisa
PULSE visualizzerà la frequenza cardiaca del momento in battiti al minuto (BPM).
Per attivare, impugnare i sensori di pulsazioni su entrambe le impugnature del
manubrio durante l'esercizio e la frequenza cardiaca verrà visualizzata dopo 4-5
secondi. Per una lettura più accurata, impugnare i sensori di pulsazioni con
entrambe le mani. Durante l'allenamento, per fermare la corsa del tapis roulant si
può premere il pulsante STOP sulla console del computer in qualsiasi momento,
oppure estrarre il pulsante di sicurezza.

TASTI FUNZIONE:
START:
Premere il pulsante START per iniziare l'allenamento in diverse modalità.

STOP:
Premere il tasto STOP per interrompere l'allenamento in diverse modalità.

PROG (PROGRAMMA):
Prima di cominciare, premere il tasto PROG per selezionare il programma di 
allenamento preimpostato (P01-P12).

49



MODE:
Premere il pulsante MODE per selezionare diverse funzioni (tempo, distanza o 
calorie) per impostare gli obiettivi di allenamento in modalità programma 
manuale prima di cominciare l'allenamento.

SPEED (ACCELERARE):

Premere il pulsante SPEED per regolare verso l'alto, in modalità programma
manuale, le impostazioni degli obiettivi di tempo di allenamento, distanza o
calorie prima dell'allenamento.

Premere il pulsante SPEED per regolare verso l'alto, in modalità programma
di allenamento preimpostato (P01-P12), le impostazioni degli obiettivi di tempo
di allenamento, distanza o calorie prima dell'allenamento.

SPEED (RALLENTARE):
Premere il pulsante SPEED - per regolare verso il basso, in modalità programma 
manuale, le impostazioni degli obiettivi di tempo di allenamento, distanza o
calorie prima dell'allenamento.

Premere il pulsante SPEED - per regolare verso il basso, in modalità
programma di allenamento preimpostato (P01-P12), le impostazioni degli
obiettivi di tempo di allenamento, distanza o calorie prima dell'allenamento.

INSTANT SPEED (3 / 6 / 9 / 12): 
Utilizzato per raggiungere più rapidamente la velocità desiderata.

FUNZIONI DEL DISPLAY:
TIME: Visualizza in minuti e secondi il tempo di allenamento trascorso. 
Premere il pulsante START del computer per iniziare l'allenamento, la finestra 
LCD effettuerà un conto alla rovescia di 5 secondi con il display LCD che 
visualizza "5-4-3-2-1" prima che il nastro scorrevole inizi a muoversi. Il nastro inizia a 
muoversi con una velocità iniziale di 1,0 Km/h. Premendo il pulsante SPEED o 
SPEED sulla console del computer o sul manubrio si può aumentare o 
diminuire la velocità di marcia durante l'esercizio. Il conteggio del tempo inizia 
da 0:00 fino a 99:59 con incremento di 1 secondo.

SPEED: Visualizza la velocità del momento da un minimo di 1,0 Km/h a un 
massimo di 16,0 Km/h. Si può aumentare o diminuire la velocità premendo il 
pulsante SPEED o SPEED - sulla console del computer o sul manubrio.

 per aumentare / diminuire le impostazioni del livello di 
inclinazione durante tutti i periodi di allenamento in diverse modalità di allena-
mento.

INCLINAZIONE ISTANTANEA (2/4/8/12): Utilizzato per raggiungere più rapida-
mente il livello di inclinazione desiderato.

50



(DISTANCE: Visualizza la distanza cumulativa percorsa durante l'allenamento. 
Premere il pulsante START del computer per iniziare l'allenamento, la finestra LCD 
effettuerà un conto alla rovescia di 5 secondi con il display LCD che visualizza 
"5-4-3-2-1" prima che il nastro scorrevole inizi a muoversi. Il nastro inizia a muoversi 
con una velocità iniziale di 1,0 Km/h. Premendo il pulsante SPEED o SPEED 
sulla console del computer o sul manubrio si può aumentare o diminuire la 
velocità di marcia durante l'esercizio. Inizia in conteggio della distanza.

CALORIES: Visualizza le calorie totali bruciate durante l'allenamento. 
Premere il pulsante START del computer per iniziare l'allenamento, la finestra 
LCD effettuerà un conto alla rovescia di 5 secondi con il display LCD che 
visualizza "5-4-3-2-1" prima che il nastro scorrevole inizi a muoversi. Il nastro inizia a 
muoversi con una velocità iniziale di 1,0 Km/h. Premendo il tasto SPEED o 
SPEED - sulla console del computer o sul manubrio per aumentare o diminuire 
la velocità di corsa durante l'esercizio. Inizia il conteggio delle calorie. (Questi 
dati sono una guida approssimativa per il confronto di diverse sessioni di 
esercizio fisico e non dovrebbero essere utilizzati nel trattamento medico).

PULSE: Visualizza frequenza cardiaca del momento in battiti al minuto (BPM). Per 
attivare, impugnare i sensori di pulsazioni su entrambe le impugnature del 
manubrio durante l'esercizio e la frequenza cardiaca verrà visualizzata dopo 2-5 
secondi, Per una lettura più accurata, impugnare i sensori di pulsazioni con 
entrambe le mani.

ALLENAMENTO IN MODALITA PROGRAMMAZIONE MANUALE
Si possono impostare prima dell'allenamento i parametri di tempo, distanza o 
calorie target in modalità STOP.
Solo una delle funzioni può essere preimpostata.

Per impostare la funzione TIME premere il pulsante MODE sulla console del 
computer compare la finestra divisa TIME che iniziare a lampeggiare. Premere il 
pulsante o SPEED - sul tasto della console del computer o sul manubrio 
per cambiare l'impostazione. Ogni incremento è di 1 minuto. L'intervallo di 
tempo prestabilito è compreso tra 5:00 e 99:00 minuti. Una volta impostato il 
tempo target predefinito, premere il pulsante START del computer per iniziare 
l'esercizio. Il nastro si avvia con una velocità iniziale di 1,0 Km/h. Premendo il 
tasto SPEED o SPEED - sulla console del computer o sul manubrio si può 
aumentare o diminuire la velocità di corsa durante l'esercizio. Inizia il conto alla 
rovescia dal tempo target preimpostato fino a 0:00, con scatti a calare di 1 
secondo. Quando il conto alla rovescia del tempo target preimpostato arriva a 
0:00, il computer emette un segnale acustico per avvisare l'utente e il tapis 
roulant si arresta automaticamente.

S1 S2 S3

Hexagon Socket 
Oval Head Bolt

M8x55 X2

Spring Washer 
M8 X2

M8x16 Allen 
Bolt X 8

S4

Safety Tether 
Key X 1

TOOLS

Allen Wrench
X 1

HARDWARE LIST & ASSEMBLY COMPONENT

Schakel Bluetooth-functionaliteit op uw apparaat in en maak het detecteerbaar, kies 
het weergegeven apparaat "BTMP3" om het te koppelen. Zodra het apparaat is 
gekoppeld, kunt u de applicatie op uw apparaat gaan gebruiken om af te spelen, te 
pauzeren en het volume aan te passen, enz.

MUSIC

51



Per impostare la funzione DISTANCE premere il pulsante MODE sulla console del 
computer fino a quando la finestra di DISTANCE inizia a lampeggiare. Premere il 
pulsante SPEED o SPEED - sul tasto della console del computer per modificare 
l'impostazione. L'intervallo di distanza del target preimpostato è da 0,5 a 65,0 
chilometri, la distanza predefinita è di 1 chilometro. Una volta impostata la 
distanza target preimpostata, premere il pulsante START del computer per iniziare 
l'esercizio. Il nastro si avvia con una velocità iniziale di 1.0 Km/h. Premendo il tasto 
SPEED o SPEED - sulla console del computer o sul manubrio si può aumentare o 
diminuire la velocità di corsa durante l'esercizio. La distanza inizia il conto alla 
rovescia da una distanza prestabilita a 0,00. Quando il conto alla rovescia della 
distanza prefissata arriva a 0,00, il computer emette un segnale acustico per 
avvertire l'utente e il tapis roulant si ferma automaticamente.

Per impostare la funzione CALORIES premere il tasto MODE sulla console del 
computer fino a quando la finestra CALORIES inizia a lampeggiare. Premere il

pulsante SPEED o SPEED - sul tasto della console del computer per 
modificare l'impostazione. L'intervallo di calorie target preimpostato è da 10 a 
995 calorie. Una volta preimpostate le calorie target, premere il pulsante START 
del computer per iniziare l'esercizio. Il nastro si avvia con una velocità iniziale 
di 1.0 Km/h. Premendo il tasto SPEED o SPEED - sulla console del computer o 
sul manubrio si può aumentare o diminuire la velocità di corsa durante 
l'esercizio. Inizia il conto alla rovescia dalle calorie target preimpostate a 0. 
Quando il conto alla rovescia delle calorie target preimpostate arriva a 0, il 
computer emette un segnale acustico per avvisare l'utente e il tapis roulant si 
ferma automaticamente.

S1 S2 S3

Hexagon Socket 
Oval Head Bolt

M8x55 X2

Spring Washer 
M8 X2

M8x16 Allen 
Bolt X 8

S4

Safety Tether 
Key X 1

TOOLS

Allen Wrench
X 1

HARDWARE LIST & ASSEMBLY COMPONENT

Schakel Bluetooth-functionaliteit op uw apparaat in en maak het detecteerbaar, kies 
het weergegeven apparaat "BTMP3" om het te koppelen. Zodra het apparaat is 
gekoppeld, kunt u de applicatie op uw apparaat gaan gebruiken om af te spelen, te 
pauzeren en het volume aan te passen, enz.

MUSIC

LIJST VAN ONDERDELEN &
MONTAGECOMPONENTEN

S1 S2 S3

Ovale 
kopbouten met
binnenzeskant 

M8x55
X2

Sluitring M8
X2

Inbusbout 
M8x16 X8

S4

Veiligheidssleut
el X1

TOOLS

Inbussleutel
X1

52



LIJST VAN ONDERDELEN &
MONTAGECOMPONENTEN

S1 S2 S3

Ovale 
kopbouten met
binnenzeskant 

M8x55
X2

Sluitring M8
X2

Inbusbout 
M8x16 X8

S4

Veiligheidssleut
el X1

TOOLS

Inbussleutel
X1

53



Software applicativo (APP)

Verificate se il vostro dispositivo mobile conferma i requisiti dell'applicazione.
I requisiti di ciascuna applicazione sono indicati nel Google PlayStore o AppStore.

Scoprite Kinomap gratuitamente con l'opzione di pagamento o scegliete l'applicazione gratuita FIT&HOME.

Android iOSKinomap

Android iOSFIT&SHOW

Si prega di comprendere che il presente manuale non può fornire una guida completa al funzionamento 
dell'applicazione, in quanto questa viene aggiornata di volta in volta. 
Questo processo potrebbe introdurre modifiche al funzionamento o al design dell'applicazione. Per 
applicazioni specifiche, consultare le istruzioni contenute nel negozio di download o contattarci.

Ricordate di attivare la funzione Bluetooth sul vostro dispositivo.

54



55



56



57



Politica di garanzia
Questo prodotto è garantito per 2 anni dalla data di acquisto. Quando hai un 
problema che non puoi risolvere, devi accedere al sito www.prixton.com e fare 
clic sull`opzione di contatto per inviarci il tuo modulo di assistenza.

Le caratteristiche tecniche ed elettriche qui riportate corrispondono alle unità 

del dispositivo.

Con la presente, La Trastienda Digital SL come proprietaria del marchio commer-
ciale Prixton, situata presso Avenida Cervantes 49, módulo 25, Basauri 48970, 
Bizkaia, dichiara che il tipo di apparecchiatura radioelettrica che si mostra qui di 
seguito:

È conforme alla Direttiva 2014/53/UE del Parlamento Europeo e della commissione 
del 16 aprile 2014.

Il testo completo della dichiarazione di conformità UE è disponibile a questo 
indirizzo web:
www.prixton.com 

LA TRASTIENDA DIGITAL 

MARCA

PRIXTON FITNESS

MODELLO DESCRIZIONE CATEGORIA

RUN FIT EVEREST 
PRO RF300

TREADMILL

58



AUFLISTUNG DER TEILE &
MONTAGEKOMPONENTEN

S1 S2 S3

Hammerkopfschrau
be mit ovaler 

Hexagon-Muffe 
M8x55

X2

Federring M8
X2

M8x16
Innensechskant-

schraube
X 8

S4

Sicherheitsgurt
X 1

WERKZEUGE

Innensechskant
-schlüssel

X 1

Aktivieren Sie die Bluetooth-Funktion Ihres Geräts und machen Sie es erkennbar. 
Wählen Sie das angezeigte Gerät "BTMP3", um es zu koppeln. Sobald das Gerät 
gekoppelt ist, können Sie die Anwendung auf Ihrem Gerät verwenden, um die 
Lautstärke abzuspielen, anzuhalten und anzupassen.

MUSIC

DE

59



60



61



MONTAGEANLEITUNG

SCHRITT 1

Es wird empfohlen, diesen Schritt zu zweit auszuführen. Heben Sie beide Seiten der
stützenden Rohre der Griffstange an. Eine Person sollte beide Seiten der
stützenden Rohre der Griffstange halten, während die andere Position die Schrauben festzieht.
Heben Sie beide Seiten der stützenden Rohre der Griffstange an und gleichen Sie beide
Öffnungen an. Verwenden Sie zwei
M8x50 Hammerkopfschrauben mit ovaler Hexagon-Muffe (S1) und zwei M8 Federringe (S2), um
beide Seiten der stützenden Rohre der Griffstange an der Basis zu befestigen.

Verwenden Sie zwei M8x55 Hammerkopfschrauben mit ovaler Hexagon-Muffe (S3), um beide
Seiten der stützenden Rohre der Griffstange am Rahmen zu befestigen. Ziehen Sie alle Schrauben
leicht mit dem Innensechskantschlüssel an.

HINWEIS: ZIEHEN SIE DIE SCHRAUBEN IN SCHRITT 1 NICHT KOMPLETT AN, BEVOR
SCHRITT 2 NICHT BEENDET WURDE.

S1

S2

62



SCHRITT 2

Es wird empfohlen, diesen Schritt zu zweit auszuführen. E ine Person sollte die Computerkonsole
halten, während die andere die Kabel anschließt.
Verbinden Sie das Hauptkabel von dem rechten stützenden Rohr der Griffstange mit
dem Kabel der Computerkonsole.

Installieren Sie die Halterung der Griffstange an dem rechten und linken Rohr der Griffstange mit
zweiM8x5 Hammerkopfschrauben mit ovaler Hexagon-Muffen (S3).

WICHTIG: Stellen Sie beim Aufschieben der Halterung der Griffstange auf die beiden
stützenden Rohre der Griffstange sicher, dass die Kabel innen in dem rechten Rohr
angeschlossen wurde und achten Sie darauf, die Kabel nicht zu beschädigen.

ZIEHEN SIE NUN ALLE INSCHRITT 1 INSTALLIERTEN SCHRAUBEN FEST.

S3

S3

63



INBETRIEBNAHME DES COMPUTERS

HINWEIS: Stellen Sie sich immer auf die seitlichen Trittleisten, wenn Sie das Laufband 
starten, starten Sie es niemals, während Sie auf dem Laufband stehen.

SCHNELLSTART:
Drücken Sie den START-Knopf auf dem Computer, um mit dem Training zu beginnen. Das 
LCD-Fenster wird 5 Sekunden im Countdown herunterzählen und zeigt dabei „5-4-3-2-1“ an, 
bevor das Laufband anfängt, sich zu bewegen. Das Laufband startet bei einer anfänglichen 
Geschwindigkeit von 1,0 KPH. Lassen Sie das Laufband immer
1,0 KPH erreichen, bevor Sie sich auf das Laufband stellen.
Sie können die Knöpfe SPEED + oder SPEED - auf der Computerkonsole oder der Griffstange 
drücken,
um die Geschwindigkeit zu erhöhen oder zu reduzieren. Das Fenster SPEED zeigt die aktuelle
Geschwindigkeit an. Die Geschwindigkeit kann zwischen 1,0 KPH und maximal 16 KPH
eingestellt werden. Sie können ebenfalls einen der Knöpfe INSTANT SPEED (3/6

/9/12) auf der Computerkonsole drücken und das SPEED-Fenster
zeigt an, was Sie gedrückt haben und die Geschwindigkeit ändert sich auf 3 KPH, 6 KHP, 9
KHP, oder 12 KPH. Das Fenster TIME zeigt an, wie lange Sie bereits laufen (in Minuten 
und Sekunden). Das Fenster DISTANCE zeigt die während des Trainings erreichte Entfernung 
an. Das Fenster CALORIES zeigt die während des Trainings verbrannten Kalorien an. Das 
Fenster PULSE zeigt Ihren aktuellen Herzschlag in Herzschlägen pro Minute (BPM) an. Um 
diese Funktion zu aktivieren, fassen Sie die Handpulssensoren auf der Griffstange während 
dem Training an, Ihr Puls wird 4-5 Sekunden später angezeigt. Für ein akkurates Erfassen 
fassen Sie die Sensoren mit beiden Händen an. Sie können während des Trainings den STOP-
Knopf auf der Computerkonsole jederzeit betätigen oder an dem Sicherheitsgurt ziehen, um 
das Laufband zu stoppen.

FUNKTIONSKNÖPFE:
START:
Drücken Sie den START-Knopf, um das Training in einem anderen Trainingsmodus zu starten.

STOP:
Drücken Sie den STOP-Knopf, um das Training in einem anderen Trainingsmodus zu stoppen.

PROG (PROGRAMM):
Drücken Sie den PROG-Knopf, um das voreingestellte Trainingsprogramm (P01-P12) vor
dem Training zu wählen.

64



 
 

 
  

 
 

 

MODE:
Drücken Sie den MODE-Knopf, um die verschiedenen Funktionen (Zeit, Entfernung oder 
Kalorien) zu wählen und vor dem Training die Trainingsziele in dem manuellen Programm-
Modus festzulegen.

SPEED (ERHÖHEN):
Drücken Sie den Knopf SPEED +, um Zeit, Entfernung oder
Kalorien in dem vorab eingestellten Training zu erhöhen.
Drücken Sie den Knopf SPEED +, um die Zeit in dem vorab eingestellten
Trainingsprogramm (P01-P12) vor dem Training zu erhöhen.

SPEED (VERRINGERN):
Drücken Sie den Knopf SPEED -, um die Zeit in dem vorab eingestellten
Kalorien in dem vorab eingestellten Training zu reduzieren.
Drücken Sie den Knopf SPEED -, um die Zeit in dem vorab eingestellten
Trainingsprogramm (P01-P12) vor dem Training zu verringern.

INSTANT SPEED (3 / 6 / 9 / 12): 
Erreicht die gewünschte Geschwindigkeit schneller.

 Zum Erhöhen / Verringern der Einstellungen für die Steigungsstufe 
während aller Trainingsperioden in verschiedenen Trainingsmodi.

SOFORTIGE STEIGUNG (• /• /8/12): Wird verwendet, um die gewünschte Steigung 
schneller zu erreichen.

DISPLAY-FUNKTIONEN:
TIME: Zeit die bereits vergangene Zeit in Minuten und Sekunden. Drücken Sie den 
START-Knopf auf dem Computer, um mit dem Training zu beginnen. Das LCD-
Fenster wird 5 Sekunden im Countdown herunterzählen und zeigt dabei „5-4-3-2-1“ 
an, bevor das Laufband anfängt, sich zu bewegen. Das Laufband startet bei
einer anfänglichen Geschwindigkeit von 1.0 KPH. Sie können SPEED + oder
SPEED - auf der Computerkonsole oder der Griffstange drücken, um während dem
Training die Geschwindigkeit zu erhöhen oder zu reduzieren. Die Zeit fängt bei 0:00 an 
und zählt bis 99:59 die Sekunden.

SPEED: Zeigt die aktuelle Geschwindigkeit von 1,0 KPH bis maximal 16,0 KPH an. 
Sie können die Geschwindigkeit über die Knöpfe SPEED + oder SPEED - auf 
der Computerkonsole oder der Griffstange erhöhen oder verringern.

DISTANCE: Zeigt die während dem Training erzielte Entfernung an. Drücken Sie den 
START-Knopf auf dem Computer, um mit dem Training zu beginnen. Das LCD-Fenster wird 
5 Sekunden im Countdown herunterzählen und zeigt dabei „5-4-3-2-1“ an, bevor das Laufband 
anfängt, sich zu bewegen. Das Laufband startet bei einer anfänglichen Geschwindigkeit 
von 1.0 KPH. Sie können SPEED + oder SPEED - auf der Computerkonsole oder der 
Griffstange drücken, um während dem Training die Geschwindigkeit zu erhöhen oder zu 
reduzieren. Die Entfernung wird entsprechend angezeigt.

65



 
 

 
 

 
 

 
 

 

  

 
  

   

 
 

 
 

  

 
 

 
    

CALORIES: Zeigt die während dem Training verbrannten Kalorien an. Drücken Sie 
den START-Knopf auf dem Computer, um mit dem Training zu beginnen. Das LCD-
Fenster wird 5 Sekunden im Countdown herunterzählen und zeigt dabei „5-4-3-2-1“ 
an, bevor das Laufband anfängt, sich zu bewegen. Das Laufband startet bei einer 
anfänglichen Geschwindigkeit von 1.0 KPH. Sie können SPEED + oder SPEED - auf der 
Computerkonsole oder der Griffstange drücken, um während dem Training die 
Geschwindigkeit zu erhöhen oder zu reduzieren. Die Kalorien werden entsprechend 
angezeigt. (Diese Daten sind ungefähre Vergleichsdaten verschiedener Trainings-
Sessions und sollten nicht bei einer medizinischen Behandlung verwendet 
werden).

PULSE: Zeigt Ihre aktuelle Herzfrequenz in Herzschlag pro Minute (BPM) an. Um diese 
Funktion zu aktivieren, fassen Sie die Handpulssensoren während dem Training an, Ihr 
Puls wird 2-5 Sekunden später angezeigt. Für ein akkurates Erfassen fassen Sie die 
Sensoren mit beiden Händen an.

TRAINING IM MANUELLEN PROGRAMM-MODUS:
Sie können vor dem Training TIME, DISTANCE oder CALORIES in dem STOP-Modus 
wählen. 

Es kann nur eine der Funktionen vorab eingestellt werden.

Um TIME einzustellen, drücken Sie den MODE-Knopf auf der Computerkonsole, bis das
TIME-Fenster blinkt. Drücken Sie die Knöpfe SPEED + oder SPEED – auf der 
Computerkonsole oder der Griffstange, um die Einstellungen zu ändern. Die Zeit 
wird jeweils um 1 Minute geändert. Die vorab eingestellte Zeit reicht von 5:00 bis 99:00 
Minuten. Wenn Sie die Zeit eingestellt haben, drücken Sie den START-Knopf auf dem 
Computer, um mit dem Training zu beginnen. Das Laufband startet bei
einer anfänglichen Geschwindigkeit von 1.0 KPH. Sie können SPEED + oder 
auf der Computerkonsole oder der Griffstange drücken, um während dem Training die 
Geschwindigkeit zu erhöhen oder zu reduzieren. Die Zeit läuft im Countdown bis zu 
0:00 ab. Wenn 0:00 erreicht wird, gibt der Computer einen Signalton aus, um Sie darauf 
hinzuweisen und das Laufband stoppt automatisch.

Um DISTANCE einzustellen, drücken Sie den MODE-Knopf auf der Computerkonsole, 
bis das DISTANCE-Fenster blinkt. Drücken Sie die Knöpfe SPEED + oder SPEED -
auf der Computerkonsole oder der Griffstange, um die Einstellungen zu ändern. Die 
vorab eingestellte Entfernung reicht von 0,5 bis 65,0 km, die Standardentfernung ist 1 
km. Wenn Sie die Entfernung eingestellt haben, drücken Sie den START-Knopf auf dem 
Computer, um mit dem Training zu beginnen. Das Laufband startet bei
einer anfänglichen Geschwindigkeit von 1.0 KPH. Sie können SPEED + oder SPEED
auf der Computerkonsole oder der Griffstange drücken, um während dem Training die 
Geschwindigkeit zu erhöhen oder zu reduzieren. Die Entfernung wird bis 0,00 
heruntergezählt. Wenn 0,00 erreicht wird, gibt der Computer einen Signalton aus, um 
Sie darauf hinzuweisen und das Laufband stoppt automatisch.

LI
'
S
A

T
S
E
SE

D
M
U

B
M
L
A
A
T
G
É
E
R
D
I
'
E
A
L
S
E
S
T
EM

DE
B

S
LA

C
G
O
E
MPOSANTS

S1 S2 S3

Boulon à tête 
ronde Hexagonale 
creuse Diam.8 mm 

x L.55 mm X2

Rondelle 
ressort Diam.8 

mm X2

Boulon à tête
cylindrique

Diam.8 mm x
L.16 mm

X 8

S4

Clé de 
sécurité X 1

OUTILS

Clé
hexagonale

X 1

66



Um CALORIES einzustellen, drücken Sie den MODE-Knopf auf der Computerkonsole, 
bis das CALORIES-Fenster blinkt. Drücken Sie die Knöpfe SPEED + oder SPEED -
auf der Computerkonsole oder der Griffstange, um die Einstellungen zu ändern. Die 
vorab eingestellten Kalorien reichen von 10 bis 995 Kalorien. Wenn Sie die Kalorien 
eingestellt haben, drücken Sie den START-Knopf auf dem Computer, um mit dem 
Training zu beginnen. Das Laufband startet bei einer anfänglichen Geschwindigkeit 
von 1,0 KPH. Sie
können die Knöpfe SPEED + oder SPEED - auf der Computerkonsole oder der 
Griffstange drücken, um die Geschwindigkeit zu erhöhen oder zu reduzieren. Die 
Kalorien werden bis 0 heruntergezählt. Wenn 0 erreicht wird, gibt der Computer einen 
Signalton aus, um Sie darauf hinzuweisen und das Laufband stoppt automatisch.

67



Anwendungssoftware (APP)

Prüfen Sie, ob Ihr mobiles Gerät die Anforderungen der Anwendung erfüllt.
Die Anforderungen für jede App werden im Google PlayStore oder AppStore angezeigt.

Testen Sie Kinomap kostenlos mit Zahlungsoption oder wählen Sie die kostenlose FIT&HOME-Anwendung.

Android iOSKinomap

Android iOSFIT&SHOW

Bitte haben Sie Verständnis dafür, dass wir Ihnen in diesem Handbuch keine vollständige Anleitung für 
die Bedienung der App geben können, da die App von Zeit zu Zeit aktualisiert wird. 
Dadurch können sich Änderungen an der Bedienung oder am Design der App ergeben. Bitte beachten 
Sie die Anleitungen im Downloadshop für spezifische Anwendungen oder kontaktieren Sie uns.

Denken Sie daran, die Bluetooth-Funktion auf Ihrem Gerät zu aktivieren.

68



69



70



71



Garantiepolitik
Für dieses Produkt gilt eine Garantie von 2 Jahren ab Kaufdatum. Wenn Sie ein 
Problem haben, das nicht gelöst werden kann, müssen Sie auf das Internet 
www.prixton.com zugreifen und auf die Kontaktoption klicken, um uns lhr 
Unterstützungsformular zu senden.

Die elektrischen und technischen Eigenschaften, die hier genannt wurden, 
entsprechen typischen Geräten und können ohne Vorankündigung geändert 
werden, um ein besseres Gerät anzubieten.

Vereinfachte EU-einverständniserklärung
La Trastienda Digital SL als Inhaber der Handelsmarke Prixton, mit dem Standort 
Avenida Cervantes 49, módulo 25, Basauri 48970, Bizkaia, erklärt hiermit, dass das 
im Folgenden detaillierte radioelektrische Gerät:

der EU-Richtlinie 2014/53/UE des Europaparlaments und –rats vom 16. April 2014 
entspricht.

Der komplette Text der EU-Einverständniserklärung kann unter dem folgenden 
Link abgerufen werden:
www.prixton.com 

LA TRASTIENDA DIGITAL

MARKE

PRIXTON FITNESS

MODEL BESCHREIBUNG KATEGORIE

RUN FIT EVEREST 
PRO RF300

TREADMILL

72



Ligue o recurso Bluetooth no seu dispositivo e torne-o detectável, escolha o dispositivo 
mostrado "BTMP3" para emparelhá-lo. Assim que o dispositivo estiver emparelhado, 
você pode começar a usar o aplicativo em seu dispositivo para reproduzir, pausar e 
ajustar o volume, etc.

MUSIC

PT

LISTA DE HARDWARE E COMPONENTES DE
MONTAGEM

S1 S2 S3

Parafuso de 
Cabeça Oval com 

Ranhura Sextavada 
M8x55 X2

Anilha Plana 
M8 X2

Parafuso 
Allen M8x16

X 8

S4

Chave de 
Tirante de 

segurança X 1

FERRAMENTAS

Chave Allen
X 1

LISTA DE HARDWARE E COMPONENTES DE
MONTAGEM

S1 S2 S3

Parafuso de 
Cabeça Oval com 

Ranhura Sextavada 
M8x55 X2

Anilha Plana 
M8 X2

Parafuso 
Allen M8x16

X 8

S4

Chave de 
Tirante de 

segurança X 1

FERRAMENTAS

Chave Allen
X 1

73



LISTA DE HARDWARE E COMPONENTES DE
MONTAGEM

S1 S2 S3

Parafuso de 
Cabeça Oval com 

Ranhura Sextavada 
M8x55 X2

Anilha Plana 
M8 X2

Parafuso 
Allen M8x16

X 8

S4

Chave de 
Tirante de 

segurança X 1

FERRAMENTAS

Chave Allen
X 1

74



75



INSTRUÇÕES DE MONTAGEM

PASSO 1

É recomendável ser assistido por uma segunda pessoa neste passo. Levantar os Tubos
de Suporte
Direito e Esquerdo do Guiador. Uma pessoa deve segurar os Tubos de Suporte
Direito e Esquerdo do Guiador no lugar enquanto a outra pessoa aperta os parafusos.
Levantar os Tubos de Suporte Direito e Esquerdo do Guiador e alinhar os orifícios. Usar
dois
Parafusos de Cabeça Oval com Ranhura Hexagonal M8x55 (S1) e duas Anilhas Planas
M8 (S2) para fixar os Tubos de Suporte Direito e Esquerdo do Guiador na Estrutura da
Base.

Usar dois Parafusos de Cabeça Oval com Ranhura Hexagonal M8x16 (S3) para fixar os
Tubos de Suporte Direito e Esquerdo do Guiador na Estrutura da Base.

Apertar ligeiramente todos os parafusos com a Chave Allen disponibilizada.

NOTA: NÃO APERTAR COMPLETAMENTE OS PARAFUSOS NO PASSO 1 ATÉ QUE
O PASSO 2 ESTEJA CONCLUÍDO.

S1

S2

S3

76



PASSO 2

É recomendável ser assistido por uma segunda pessoa neste passo. Uma pessoa deve
segurar a Consola do Computador no lugar enquanto a outra pessoa liga os cabos.
Ligar o Cabo de Controlo Principal do Tubo de Suporte Direito do Guiador ao
cabo que sai da Consola do Computador.

Instalar o Suporte do Guiador nos Tubos de Suporte Direito e Esquerdo do Guiador, usando
dois Parafusos de Cabeça Oval com Ranhura Hexagonal M8x16 (S3) .

IMPORTANTE: Enquanto desliza o Suporte do Guiador para o Tubo de Suporte
Direito e Esquerdo
do Guiador assegure-se que os cabos ficam instalados no interior do Tubo de
Suporte
Direito do Guiador e tenha cuidado para não esmagar os cabos.

DE SEGUIDA, APERTAR COMPLETAMENTE TODOS OS PARAFUSOS DO PASSO 1.

S3

S3

77



OPERAR O COMPUTADOR

  
  

   
 

        
 

   
     

    
   

   

NOTA: Manter-se sempre nos trilhos laterais quando iniciar a passadeira, 
nunca iniciar a passadeira enquanto estiver no tapete de corrida.

INÍCIO RÁPIDO:
Pressionar o botão START (INICIAR) no computador para iniciar o exercício, a janela 
LCD irá fazer uma contagem decrescente de 5 segundos com o LCD a apresentar 
"5-4-3-2-1" antes do tapete de corrida começar a mover-se. O tapete de corrida 
começa a mover-se a uma velocidade inicial de 1.0 KPH. Permita sempre que a
passadeira atinja uma velocidade de 1.0 KPH antes de subir para o tapete de corrida. 
Poderá pressionar o botão de SPEED + (VELOCIDADE ou SPEED-
(VELOCIDADE na consola do computador ou no guiador para
aumentar ou diminuir a velocidade de corrida durante o exercício. A janela pendente 
da VELOCIDADE irá apresentar a sua velocidade de corrida atual. O intervalo de 
velocidade vai desde um mínimo de 1.0 KPH até o máximo de 16.0 KPH. Também 
poderá pressionar um dos botões VELOCIDADE INSTANTÂNEA (3 / 6/9/12
)na consola do computador e a janela pendente da VELOCIDADE irá 

apresentar a velocidade que pressionou e a velocidade de corrida irá mudar para 3 
KPH, 6 KPH, 9 KPH, ou 12 KPH respetivamente. A janela pendente do TEMPO 
irá apresentar o seu tempo de exercício decorrido em minutos e segundos. A janela 
pendente da DISTÂNCIA irá apresentar a distância acumulada percorrida durante o 
exercício. A janela pendente das CALORIAS irá apresentar o total acumulado das 
calorias queimadas durante
o exercício.

 
A

 
janela

 
pendente

 
da

 
PULSAÇÃO

 
irá

 
apresentar

 
o

 
seu

 
batimento

 
cardíaco

 atual
 
em

 
batimentos

 
por

 
minuto

 
(BPM).

 
Para

 
o

 
ativar,

 
agarre

 
nos

 
sensores

 
de pulsação

manuais
 
de

 
ambos

 
os

 
guiadores

 
e
 
a
 
pulsação

 
será

 
apresentada

 
passados

 
4-5

 segundos.
 
Para

 
uma

 
leitura

 
mais

 
precisa,

 
agarre

 
os

 
sensores

 
de

 
pulsação

 
com

 
ambas

 as
 
mãos.

 
Durante

 
o

 
exercício,

 
poderá

 
pressionar

 
o

 
botão

 
STOP

 
(PARAR)

 
na

 
consola do

computador
 
para

 
parar

 
a
 
passadeira

 
a
 
qualquer

 
momento,

 
ou retirar a chave de

tirante
 
de

 
segurança

 
para

 
parar o movimento da passadeira.

BOTÕES DE FUNÇÃO:
START (INICIAR):
Pressione o botão START (INICIAR) para iniciar o exercício em diferentes modos de 
exercício.

STOP (PARAR):
Pressione o botão STOP (PARAR) para parar o exercício em diferentes modos de 
exercício.

PROG (PROGRAMAR):
Pressione o botão PROG (PROGRAMAR) para selecionar o modo de programa de 
exercício pré-programado (P01-P12) antes de começar o exercício.

78



MODE (MODO):
Pressione o botão MODE (MODO) para selecionar diferentes funções (tempo, 
distância ou calorias) para estabelecer objetivos de exercício no modo de 
programa manual antes de começar o exercício.

SPEED+ (VELOCIDADE AUMENTAR A VELOCIDADE):
Pressionar o botão SPEED + (VELOCIDADE para fazer ajustes ascendentes no
objetivo do exercício quanto ao tempo, distância ou calorias
no modo de programa manual antes de começar o exercício.
Pressionar o botão SPEED + (VELOCIDADE para fazer ajustes ascendentes no 
objetivo do exercício quanto ao tempo, distância ou calorias
no modo de programa de exercício pré-programado (P01-P12) antes de começar 
o exercício.

SPEED – (VELOCIDADE (DIMINUIR VELOCIDADE):
Pressionar o botão SPEED- (VELOCIDADE para fazer ajustes descendentes no
objetivo do exercício quanto ao tempo, distância ou calorias
no modo de programa manual antes de começar o exercício.
Pressionar o botão SPEED – (VELOCIDADE para fazer ajustes descendentes no 
objetivo do exercício quanto ao tempo, distância ou calorias
no modo de programa de exercício pré-programado (P01-P12) antes de começar 
o exercício.

INSTANT SPEED (VELOCIDADE INSTANTÂNEA) (3 / 6 / 9 / 12): 
Usada para alcançar mais rapidamente a velocidade desejada.

FUNÇÕES DE VISUALIZAÇÃO:
TEMPO: Apresenta o seu tempo de exercício decorrido em minutos e 
segundos. Pressionar o botão START (INICIAR) no computador para iniciar o 
exercício, a janela LCD irá fazer uma contagem decrescente de 5 segundos com 
o LCD a apresentar "5-4-3-2-1" antes do tapete de corrida começar a
mover-se. O tapete de corrida
a mover-se a uma velocidade inicial de 1.0 KPH. Poderá pressionar o botão de
SPEED + (VELOCIDADE +) ou
VELOCIDADE na consola do computador ou no guiador para aumentar ou
diminuir a velocidade de corrida durante o exercício. O tempo começa a contar
de 0:00 a 99:59 com 1 segundo de aumento.

Para aumentar / diminuir as configurações do nível de inclinação 
durante todos os períodos de treinamento em diferentes modos de treinamento.

 Usado para atingir o nível de 
inclinação desejado mais rapidamente.

79



VELOCIDADE: Apresenta a velocidade atual de um mínimo de 1.0 KPH até um 
máximo de
16.0 KPH. Poderá aumentar ou diminuir a velocidade pressionando no botão de 
SPEED + (VELOCIDADE +) ou
SPEED - (VELOCIDADE -) na consola do computador ou no guiador.

(DISTÂNCIA: Apresenta a distância acumulada percorrida durante o exercício. 
Pressionar o botão START (INICIAR) no computador para iniciar o exercício, a 
janela

LCD irá fazer uma contagem decrescente de 3 segundos com o LCD a apresentar 
"5-4-3-2-1" antes do tapete de corrida começar a mover-se. O tapete de
corrida a mover-se a uma velocidade inicial de 1.0 KPH. Poderá pressionar o botão 
de SPEED + (VELOCIDADE +) ou
SPEED - (VELOCIDADE -) na consola do computador ou no guiador para aumentar 
ou diminuir a
velocidade de corrida durante o exercício. A distância começa a ser contada de 
forma ascendente.

LISTA DEI PEZZI E DEGLI ELEMENTI DI MONTAGGIO

S1 S2 S3

Bulloni a testa 
ovale per chiave a 

brugola M8x55
X2

Rondelle 
elastiche M8

X2

M8x16 Bulloni 
a brugola

X 8

S4

Chiave di
sicurezza x1

ATTREZZI

Chiave a
brugola

X 1

80



CALORIAS: Apresenta o total de calorias queimadas durante o exercício. Pressionar 
o botão START (INICIAR) no computador para iniciar o exercício, a janela LCD irá
fazer uma contagem decrescente de 5 segundos com o LCD a apresentar "5-4-3-2-1"
antes do tapete de corrida começar a mover-se. O tapete de corrida a
mover-se a uma velocidade inicial de 1.0 KPH. Poderá pressionar o botão de
SPEED + (VELOCIDADE+) ou SPEED - (VELOCIDADE -) na consola do
computador ou no guiador para aumentar ou diminuir a velocidade de
corrida durante o exercício. As calorias começam a ser contadas de forma
ascendente. (Estes dados constituem apenas um guia aproximado de
comparação entre as diferentes sessões de exercícios e não devem ser usados
em tratamentos médicos).

PULSAÇÃO: Apresenta o seu batimento cardíaco atual em batimentos por minuto 
(BPM). Para o ativar, agarre nos sensores de pulsação manuais durante o exercício e 
a pulsação será apresentada passados 2-5 segundos. Para uma leitura mais precisa, 
agarre os sensores de pulsação com ambas as mãos.

EXERCÍCIO EM MODO DE PROGRAMA MANUAL:
No modo PARAR antes de começar o exercício poderá estabelecer objetivos pré-
estabelecidos de TEMPO, DISTÂNCIA ou CALORIAS.
Apenas uma das funções pode ser pré-estabelecida.

Para definir o TEMPO pressione o botão MODE (MODO) na consola do
computador até visualizar uma janela pendente de TEMPO a piscar. Pressione o
botão SPEED + (VELOCIDADE +) ou SPEED - (VELOCIDADE -) na
consola do computador ou no guiador para alterar a definição. Cada aumento é de 
1 minuto. O intervalo do alvo pré-estabelecido vai dos 5:00 aos 99:00 minutos. Após 
ter pré-estabelecido o tempo alvo, pressione o botão START (INICIAR) no 
computador
para iniciar o exercício. O tapete de corrida irá começar a mover-se a uma 
velocidade inicial de 1.0 KPH. Poderá pressionar o botão de SPEED + (VELOCIDADE 
+) ou SPEED - (VELOCIDADE -) na consola do computador ou no guiador para 
aumentar ou diminuir a velocidade de corrida durante o exercício. O tempo começa 
a contar de
forma decrescente a partir do tempo alvo pré-estabelecido até 0:00 por 1 segundo. 
Quando o tempo alvo pré-estabelecido chega a 0:00, o computador irá avisá-lo e a 
passadeira irá parar automaticamente.

Para definir a DISTÂNCIA pressione o botão MODE (MODO) na consola do
computador até visualizar a janela pendente da DISTÂNCIA a piscar. Pressione o
botão SPEED + (VELOCIDADE +) ou SPEED - (VELOCIDADE -) na consola do 
computador para alterar a definição. O intervalo de distância alvo pré-estabelecida 
vai dos 0,5 aos 65,0 quilómetros, a distância por defeito é de 1 quilómetro. Após ter 
pré-estabelecido a distância alvo, pressione o botão START (INICIAR) no 
computador para iniciar o exercício. O tapete de corrida irá começar a mover-se a 
uma velocidade inicial de 1.0 KPH. Poderá pressionar o botão de SPEED + 
(VELOCIDADE +) ou SPEED - (VELOCIDADE -) 
na consola do computador ou no guiador para aumentar ou diminuir
a velocidade de corrida durante o exercício. A distância começa a contar de forma 
decrescente a partir da distância alvo pré-estabelecida para 0,00. Quando a 
distância alvo pré-estabelecida chega a 0:00, o computador irá avisá-lo e a 
passadeira irá parar automaticamente.

81



Para definir as CALORIAS pressione o botão MODE (MODO) na consola do 
computador até visualizar a janela pendente das CALORIAS a piscar. Pressione 
o botão SPEED + (VELOCIDADE +) ou SPEED - (VELOCIDADE -) na consola do
computador para alterar a definição. O intervalo das calorias alvo pré-
estabelecidas

vai das 10 às 995 calorias. Após ter pré-estabelecidas as calorias alvo, pressione 
o botão START (INICIAR) no computador para iniciar o exercício. O tapete de
corrida começa a mover-se a uma velocidade inicial de 1.0 KPH. Poderá
pressionar o botão de

ou SPEED - (VELOCIDADE -) na consola do computador ou no
guiador para aumentar ou diminuir a velocidade de corrida durante o exercício. 
As calorias começam a contar de forma decrescente a partir das calorias alvo 
pré-estabelecidas até 0. Quando as calorias alvo pré-estabelecidas cheguem a 
0:00, o computador irá avisá-lo e a passadeira irá parar automaticamente.

82



Software de aplicação (APP)

Verifique se o seu dispositivo móvel confirma os requisitos da aplicação.
Os requisitos para cada aplicação são exibidos na Google PlayStore ou AppStore.

Consulte o Kinomap gratuitamente com opção de pagamento ou escolha a aplicação gratuita FIT&HOME.

Android iOSKinomap

Android iOSFIT&SHOW

Por favor, compreenda que não podemos fornecer-lhe um guia completo sobre o funcionamento da 
aplicação dentro deste manual, uma vez que a aplicação será actualizada de tempos a tempos. 
Este processo pode introduzir alterações ao funcionamento ou concepção da aplicação. Por favor, 
consulte as instruções na loja de downloads para aplicações específicas ou contacte-nos.

Lembre-se de activar a função Bluetooth no seu dispositivo.

83



84



85



86



Política de garantia
Em cumprimento do estabelecido no Decreto-Lei n.º 84/2021 https://dre.pt/-
dre/detalhe/decreto-lei/84-2021-172938301, colocamos à disposição dos interes-
sados toda a informação necessária para poder exercer todos os direitos de 
desistir de acordo com as normas contidas nesta lei, dando por cumpridos os 
requisitos que a lei exige ao vendedor no contrato de venda.

As características técnicas e eléctricas que aqui se indicam podem ser válidas 
para outras unidades semelhantes às nossas e poderão ser trocadas sem aviso 
prévio com o objetivo de oferecer um equipamento melhor.

Pela presente, a La Trastienda Digital SL, na qualidade de proprietária da marca 
comercial Prixton, com sede no Avenida Cervantes 49, módulo 25, Basauri 48970, 
Bizkaia, declara que o tipo de equipamento radioelétrico que de seguida se 
expõe:

Está em conformidade com a Diretiva 2014/53/UE do Parlamento Europeu e do 
Conselho de 16 de abril de 2014.

O texto completo da declaração UE de conformidade pode ser consultado no 
seguinte endereço Web:
www.prixton.com 

LA TRASTIENDA DIGITAL 

MARCA

PRIXTON FITNESS

MODELO DESCRIÇÃO CATEGORIA

RUN FIT EVEREST 
PRO RF300

TREADMILL

87



Schakel Bluetooth-functionaliteit op uw apparaat in en maak het detecteerbaar, kies 
het weergegeven apparaat "BTMP3" om het te koppelen. Zodra het apparaat is 
gekoppeld, kunt u de applicatie op uw apparaat gaan gebruiken om af te spelen, te 
pauzeren en het volume aan te passen, enz.

MUSIC
NL

LIJST VAN ONDERDELEN &
MONTAGECOMPONENTEN

S1 S2 S3

Ovale 
kopbouten met 
binnenzeskant 

M8x55
X2

Sluitring M8
X2

Inbusbout 
M8x16 X8

S4

Veiligheidssleut
el X1

TOOLS

Inbussleutel
X1

LIJST VAN ONDERDELEN &
MONTAGECOMPONENTEN

S1 S2 S3

Ovale 
kopbouten met
binnenzeskant 

M8x55
X2

Sluitring M8
X2

Inbusbout 
M8x16 X8

S4

Veiligheidssleut
el X1

TOOLS

Inbussleutel
X1

88



LIJST VAN ONDERDELEN &
MONTAGECOMPONENTEN

S1 S2 S3

Ovale 
kopbouten met
binnenzeskant 

M8x55
X2

Sluitring M8
X2

Inbusbout 
M8x16 X8

S4

Veiligheidssleut
el X1

TOOLS

Inbussleutel
X1

89



90



MONTAGEHANDLEIDING

STAP 1

Laat u door iemand helpen!. Til de draagbuizen van de
linker- en rechterhandgreep op. Eén persoon moet de draagbuizen
van de linker- en rechterhandgreep vasthouden terwijl de andere persoon de bouten
aandraait.
Til de draagbuizen van de linker- en rechterhandgreep op en lijn de schroefgaten uit.
Gebruik twee
ovale kopbouten met binnenzeskant M8x50 (S1) en twee sluitringen M8 (S2) om de
draagbuizen van de linker- en rechterhandgreep op het basisframe te monteren.

Gebruik twee ovale kopbouten met binnenzeskant M8x16 (S3) om de draagbuizen
van de linker- en rechterhandgreep op het basisframe

te monteren. Draai alle bouten half vast met de

meegeleverde inbussleutel.

OPMERKING: DRAAI DE BOUTEN PAS VOLLEDIG VAST NA VOLTOOIING VAN
STAP 2.

S1

S2

S3

91



STAP2

Laat u door iemand helpen!. Eén persoon moet de computerconsole vasthouden terwijl
de andere persoon de kabels aansluit.
Verbind de belangrijkste besturingskabel van de draagbuis van de
rechterhandgreep met de kabel van de computerconsole.

Plaats de beugel van de handgreep in de draagbuizen van de linker- en rechterhandgreep
met behulp van twee ovale kopbouten met binnenzeskantM8x16 (S3).

BELANGRIJK: Wanneer u de beugel van de handgreep in de draagbuizen van de
linker- en rechterhandgreep
schuift moet u erop toezien dat de kabels zich in de draagbuis van de
rechterhandgreep
bevinden en dat ze niet gekneld kunnen raken.

DRAAI NU ALLE BOUTEN STEVIG VAST.

S3

S3

92



DE COMPUTER BEDIENEN

OPMERKING: Ga op de zijkanten staan voordat u de loopband inschakelt. 
Zet de band nooit aan terwijl u op het loopvlak staat.

SNELLE START:
Druk op de knop START op de computer om uw trainingssessie te starten. Op het 
lcd-scherm verschijnt een aftelvenster "5-4-3-2-1". Na 5 seconden zal het loopvlak zich in 
beweging zetten De loopband begint te bewegen met een beginsnelheid van 1,0 
km/u. Wacht tot de loopband een snelheid van 1,0 km/u heeft bereikt alvorens 
op het loopvlak te stappen.

U kunt op de knoppen SPEED of SPEED op de computerconsole of de 
handgreep drukken om
de loopsnelheid te verhogen of te verlagen tijdens het trainen. Op het venster SPEED 
zal uw huidige loopsnelheid verschijnen. Het snelheidsbereik loopt van 1,0 km/u tot 
16,0 km/u. U kunt ook op één van de knoppen INSTANT SPEED (3 / 6 / 9/ 12 )
op de computerconsole drukken. De geselecteerde snelheid zal op het 
venster SPEED verschijnen, en de loopsnelheid zal toenemen tot respectievelijk 
3 km/u, 6 km/u, 9 km/u,  of 12 km/u. Het venster TIME toont de verstreken 
trainingstijd in minuten en 
seconden. Het venster DISTANCE houdt bij hoeveel kilometer u aflegt. Het venster 
CALORIES toont het totale aantal verbrande calorieën. Het venster PULSE toont uw 
huidige hartslag in slagen per minuut. Houd de sensoren op beide handgrepen vast 
om deze functie te activeren tijdens de training. Uw hartslag verschijnt na 4-5 
seconden. Leg beide handen op de sensoren voor een nauwkeurigere meting. Als u 
tijdens het trainen op de knop STOP op de computerconsole drukt, zal
de loopband tot stilstand komen. Als u de veiligheidssleutel uittrekt, zal de loopband 
eveneens stoppen.

FUNCTIEKNOPPEN:
START:
Druk op de knop START om een trainingsmodus te activeren.

STOP:
Druk op de knop STOP om een trainingsmodus te deactiveren.

PROG (PROGRAMMA):
Druk op de knop PROG om de vooraf ingestelde trainingsprogrammamodus (P01-
P12) te selecteren voordat u aan uw training begint.

93



MODE:
Druk op de knop MODE om de verschillende functies (tijd, afstand of calorieën) te 
selecteren en trainingsdoelen in te stellen in de manuele programmamodus voordat 
u aan uw training begint.

SPEED (HOGERE SNELHEID):
Druk op de knop SPEED om de tijd, de afstand en het aantal verbrande calorieën 
van het vooraf ingestelde trainingsdoel naar
boven in te stellen in de manuele programmamodus voordat u aan uw training 
begint. Druk op de knop SPEED om de tijd van het vooraf ingestelde trainingsdoel 
naar boven in te stellen in de vooraf ingestelde trainingsprogrammamodus 
(P01-P12) voordat u aan uw training begint.

SPEED - (LAGERE SNELHEID):
Druk op de knop SPEED om de tijd, de afstand en het aantal verbrande calorieën 
van het vooraf ingestelde trainingsdoel
naar beneden in te stellen in de manuele programmamodus voordat u aan uw 
training begint.
Druk op de knop SPEED om de tijd van het vooraf ingestelde trainingsdoel naar 
beneden in te stellen in de vooraf ingestelde trainingsprogrammamodus 
(P01-P12) voordat u aan uw training begint.

INSTANT SPEED (3 / 6 / 9 / 12 ):
Om de gewenste snelheid sneller te bereiken.

DISPLAYFUNCTIES:
TIME: Toont de verstreken trainingstijd in minuten en seconden. Druk op de 
knop START op de computer om uw trainingssessie te starten. Op het lcd-scherm 
verschijnt een aftelvenster "5-4-3-2-1". Na 5 seconden zal het loopvlak zich in 
beweging zetten. De loopband begint te bewegen met een beginsnelheid 
van 1,0 km/u. U kunt op de knoppen SPEED 
SPEED op de computerconsole of de handgreep drukken om de loopsnelheid
te verhogen of te verlagen tijdens het trainen. De secondenteller begint te lopen van
00:00 tot 99:59.

SPEED: Toont de huidige snelheid tussen 1,0 km/u en 16,0 km/u. U kunt op de 
knop SPEED of SPEED  de computerconsole of de handgreep drukken 
om de snelheid te verhogen of te verlagen.

Om de instellingen van het hellingsniveau te verhogen / verlagen 
tijdens alle trainingsperioden in verschillende trainingsmodi.

DIRECTE HELLING (2/4/8/12) : Gebruikt om sneller het gewenste hellingsniveau te 
bereiken.

94



AUFLISTUNG DER TEILE &
MONTAGEKOMPONENTEN

S1 S2 S3

Hammerkopfschrau
be mit ovaler 

Hexagon-Muffe 
M8x55

X2

Federring M8
X2

M8x16
Innensechskant-

schraube
X 8

S4

Sicherheitsgurt
X 1

WERKZEUGE

Innensechskant
-schlüssel

X 1

(DISTANCE: Toont hoeveel kilometer u heeft afgelegd tijdens het trainen. Druk op 
de knop START op de computer om uw trainingssessie te starten. Op het lcd-scherm 
verschijnt een aftelvenster "5-4-3-2-1". Na 3 seconden zal het loopvlak zich in 
beweging zetten. De loopband
begint te bewegen met een beginsnelheid van 1,0 km/u. U kunt op de knoppen 
SPEED of SPEED de computerconsole of de handgreep drukken 
om de loopsnelheid te verhogen of te verlagen tijdens het trainen. De 
afstand wordt gemeten.

CALORIES: Toont het aantal calorieën dat u tijdens uw training hebt verbruikt. Druk 
op de knop START op de computer om uw trainingssessie te starten. Op het lcd-
scherm verschijnt een aftelvenster "5-4-3-2-1". Na 5 seconden zal het loopvlak zich 
in beweging zetten. De loopband
begint te bewegen met een beginsnelheid van 1,0 km/u. U kunt op de knoppen 
SPEED de computerconsole of de handgreep drukken om de 
loopsnelheid
te verhogen of te verlagen tijdens het trainen. De calorieën worden geteld. (Dit 
gegeven wordt ter indicatie gegeven om verschillende trainingssessies met elkaar te 
kunnen vergelijken, maar mag niet worden gebruikt in het kader van medische 
behandelingen).

PULSE: Toont uw huidige hartslag in slagen per minuut. Houd de sensoren vast om 
deze functie te activeren tijdens de training. Uw hartslag verschijnt na 2-5 seconden. 
Leg beide handen op de sensoren voor een nauwkeurigere meting.

TRAINING IN MANUELE PROGRAMMAMODUS:
U kunt de TIME, DISTANCE of CALORIES van uw trainingsdoel vooraf instellen in de 
modus STOP voordat u aan uw training begint.
U kunt slechts één functie vooraf instellen.

95



Om de TIME in te stellen drukt u op de knop MODE op de computerconsole tot het
venster TIME begint te knipperen. Druk op de knop of op de 
computerconsole of de handgreep om de instelling te wijzigen. De tijd kan tot op de
minuut worden ingesteld. Het vooraf ingestelde doeltijdbereik loopt van 5:00 tot 
99:00 minuten. Zodra u de doeltijd hebt ingesteld, drukt u op de knop START op de 
computer om uw trainingssessie te starten. De loopband
begint te bewegen met een beginsnelheid van 1,0 km/u. U kunt op de knoppen 

 
op de computerconsole of de handgreep drukken om de loopsnelheid te verhogen of 
te verlagen tijdens het trainen. De secondenteller telt af van de vooraf ingestelde 
doeltijd naar 00:00. Wanneer de vooraf ingestelde tijd is afgelopen (00:00) klinkt er 
een piepsignaal en zal de loopband automatisch tot stilstand komen.

Om de DISTANCE in te stellen drukt u op de knop MODE op de computerconsole tot
het venster DISTANCE begint te knipperen. Druk op de knop of op 
de computerconsole om de instelling te wijzigen. Het vooraf ingestelde 
doelafstandsbereik oopt van 0,5 tot 65,0 kilometer. De standaard afstand is 
1 kilometer. Zodra u de doelafstand hebt ngesteld, drukt u op de knop START op de 
computer om uw trainingssessie te starten. De loopband
begint te bewegen met een beginsnelheid van 1,0 km/u. U kunt op de knoppen 

 
op de computerconsole of de handgreep drukken om de loopsnelheid te verhogen of 
te verlagen tijdens het trainen. De afstand telt af van de vooraf ingestelde afstand 
naar 0,00. Wanneer de vooraf ingestelde afstand is afgelegd (0,00) klinkt er een 
piepsignaal en zal de loopband automatisch tot stilstand komen.

Om de CALORIES in te stellen drukt u op de knop MODE op de computerconsole tot
het venster CALORIES begint te knipperen. Druk op de knop of op 
de computerconsole om de instelling te wijzigen. Het vooraf ingestelde caloriebereik 
loopt van 10 tot

995 calorieën. Zodra u de calorieën hebt ingesteld, drukt u op de knop START 
op de computer om uw trainingssessie te starten. De loopband begint te 
bewegen met een beginsnelheid van 1,0 km/u. U
kunt op de knoppen of op de computerconsole of de 
handgreep drukken om
de loopsnelheid te verhogen of te verlagen tijdens het trainen. Het aantal 
calorieën telt af van het vooraf ingestelde aantal naar 0. Wanneer het vooraf 
ingestelde aantal calorieën is verbrand (0) klinkt er een piepsignaal en zal de 
loopband automatisch tot stilstand komen.

96



97



Toepassingssoftware (APP)

Controleer of uw mobiele apparaat voldoet aan de toepassingsvereisten.
De vereisten voor elke app worden weergegeven in de Google PlayStore of AppStore.

Bekijk Kinomap gratis met betaaloptie of kies voor de gratis FIT&HOME app.

Android iOSKinomap

Android iOSFIT&SHOW

Begrijp dat we u binnen deze handleiding geen volledige handleiding voor de werking van de app 
kunnen geven, omdat de app van tijd tot tijd wordt bijgewerkt. 
Dit proces kan leiden tot wijzigingen in de werking of het ontwerp van de app. Raadpleeg de 
instructies in de downloadwinkel voor specifieke toepassingen of neem contact met ons op.

Vergeet niet de Bluetooth-functie op uw apparaat te activeren.

98



99



100



101



Garantie Beleid
Dit product heeft een garantie van 2 jaar vanaf de datum van aankoop. Als u 
een probleem hebt dat u niet kunt oplossen, moet u naar www.prixton.com
gaan en op de contactoptie klikken om ons uw assistentieformulier toe te 
sturen.

voorafgaande kennisgeving worden gewijzigd om het apparaat nog te verbe-
teren.

Vereenvoudigde EU-conformiteitsverklaring
Hierbij verklaart La Trastienda Digital SL, als eigenaar van het handelsmerk 
Prixton, en gevestigd in het Avenida Cervantes 49, módulo 25, Basauri 48970, 
Bizkaia, dat de radioapparatuur die hierna wordt beschreven:

Strookt met Richtlijn 2014/53/EU van het Europees Parlement en de Raad van 16 
april 2014.

De volledige tekst van de EU-conformiteitsverklaring is te vinden op de volgende 
internetsite:
www.prixton.com 

LA TRASTIENDA DIGITAL

MERK

PRIXTON FITNESS

MODEL BESCHRIJVING CATEGORIE

RUN FIT EVEREST 
PRO RF300 TREADMILL

102






